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@ [M[L-21[T 1]
@  [MZ][L-1][T)

fo T2 e Sieedl € V=V, sinot ¥ ‘C’ 9IRa
= T IR & |

oI 3 w2l % s o o el
_Yo

(L) Id_m G cosmt
_Yo .

(2) Id_m sinmt

@ 1;=V,eCsinet

T I5d BIHH g 991 T&d 5RF 1 o &2 *

s1firgvae  fou srafas SwEnt & 8, i

1) UH Jod gk T[UT 9 g9Ian @ foe e
FEE

(2) U Jed Sl 1 ST ST Yo GeT
T =H1 R B 2 |

B) U Jod g 3TH T[99 USH 4 ¢ |

@ SwdEa H gt

n-2TEY SLECF H SoIa2 hi Higdl Sa-1 & & foamn

p—<I39 At H ®ieT ) 9igdl B S W 9

Terera &5 TN SIRn 1 SN H e % SI9

qE ST |

(1) p-<RUYY ¥R > n-TEIYH U H

(2) n°RYH H>p-TEIYH U H

(8) p-2EY H HE YW Yelfed T BW, HAA
n-<39 § YN waied g

@) n-2RYHE YT=p-2EIH 97

T A% ‘n’ ST W EE A G HRaAl § 1 OgHRT

fegfas =1 =t o1 ©
(1) 2n

(2) 3n

@ 4n

4 n

Hindi+English
Section - A (Physics)

If E and G respectively denote energy and
gravitational constant, then E has the dimensions
of : G

1 [MI[L-Y[T1

@  [M][LY] [T

@ [MZ[L-2[T~1]

@ [MZ[L-1][T0

A capacitor of capacitance ‘C’, is connected across
an ac source of voltage V, given by

V=V, sinmt
The displacement current between the plates of
the capacitor, would then be given by :

Vi

Ij=—9 coswt

(1) d mcmsm
Vg .

[=— t

(2) 4=—g5sine

@ =V elsinet
4 I3=V,eCcoswt

A lens of large focal length and large aperture is
best suited as an objective of an astronomical
telescope since ;

(1)  alarge aperture contributes to the quality
and visibility of the images.

(2)  alarge area of the objective ensures better
light gathering power.

(3)  alarge aperture provides a better resolution,
(4)  allofthe above.

The electron concentration in an n-type
semiconductor is the same as hole concentration
in a p-type semiconductor. An external field
(electric) is applied across each of them, Compare
the currents in them,

(1)  current in p-type > current in n-type.
(2)  current in n-type > current in p-type.

(3)  No current will flow in p-type, current will
only flow in n-type.

(4)  currentin n-type =current in p-type.
A body 1s executing simple harmonic motion with

frequency ‘n’, the frequency of its potential energy
18 :

(1) 2n
(2) 3n
(3) 4n
4 n
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6.

fomEen (t=0) ¥ U S/ i e Taa9ad 9
F R feTFa &1 9 3R t=n—1 W t=n F &4

mcri“lq:‘gmﬂm“lmff?c\i’[sn@r,ﬁrssn T STIUE 2T © ;
n+1
2n—1
@D Sni1
2n+1
@ 5
2n
® 51
2n—1
@ -
EﬁqimﬂﬁﬁﬁWﬂ€ﬁ§h

1 =i TR &= % suftem | & fgga sl o
w4 ¥, srmavil & faweme & wwon|

@  Sifgya sl Shae a8t W R §, 59 e
S STIATEed BT 2 |

@  fod v forp foya sl 2 81

@ T foya el v 2 81

R, 99T R, T2 3 <1 s1maif¥m T =mers T R4

g few = ¥ i % U S S (oy/0p) H

ST Bl §

R
O F
R
o &)
R}
@ R
R
@ R—;

Frefafen waat (A) 991 (B) W =R wifs aen

T SR 1 fafga wifsT

(A) TF SR TEE IopN Al H T3 ¥, 9
Tava = =1 75 w9 S |

B) p-n T HT fawyg 9= 0.1 Fie A
0.3 Siwe % == B |

()  TH (A) T (B) oA £

@ (A) TG T W (B) T B |

3 (A) 7o ¥ 9] (B) §H £

@  IF (A) 79T (B) T )

3

N3

A small block slides down on a smooth inclined
plane, starting from rest at time t=0. Let S be
the distance travelled by the block in the interval

S
t=n—1to t=n. Then, the ratio B s
Sn +1

Zn—1
D ona

2n+1
2) 2n—1

2n

@ Zp

Zn—1
4
4) on

Polar molecules are the molecules :

(1)  acqure a dipole moment only in the presence
of electric field due to displacement of
charges.

(2)  acquire a dipole moment only when magnetic
field is absent.

(3)  having a permanent electric dipole moment,

(4)  having zero dipole moment.

Two charged spherical conductors of radius R and
R, are connected by a wire. Then the ratio of
surface charge densities of the spheres (¢,/0,) is :

(1) R_l
R

o |5

@ Rz

@ R,

Consider the following statements (A) and (B)
and 1dentify the correct answer.

(A) A zener diode is connected in reverse bias,
when used as a voltage regulator.

(B) The potential harrier of p-n junction lies
between 0.1 Vic0.3V.

(1)  (A) and (B) both are incorrect.

@ (A) is correct and (B) is incorrect.
(3)  (A) is incorrect but (B) 1s correct.
(4) (A) and (B) both are correct.
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10,

11.

12,

13.

T F9 F% ¢ T3 T 90°C F 80°C 7 S-<1 Bl &,
STel L R 919 20°C B 1 39 8L 5 99 W T9HE WS
o FY9 T HIR B 80°C H 60°C TF S-S FH H T4

T BT :

13

—t
m %
1o,
13
L
13
13,
10

@)

(3)

4)

TF 240 =M T 1 A1, Yo S0 99
120 % T @vSl H Ledl ¥ SEred a9 @ied
FrfwsRl w1 @ e wfa gfewmarT waem
7.6 HIEeIa2 aee (MeV) T 8.5 WIEASRIA e
(MeV) ¥ 1 7T o Fol U -89 Sl ol &

1) 9.4 AMEARIA dice

2) 804 HETIERMA e

3) 216 AR Aee

@ 0.9 AT Al

T o Hafa v vaaa Togm g T & fag
et Soaem o 9 =0 o Fae: faga 89 (E)
T = & (B) W Tl v fegmst v w=fda
FA S ?

MM P 48
@Dtk -k
FATRNF 4N M
@ itk —j-k
AT MM
G —j+k —j+k

T U A S 4

@ 4k, j+k

TFATT 600 AAMHRE aTes arel TerrT 9 3igas gfd
THUS SHfSId M Sl W& 21 5« o8 3.8 X 10— 3
o7 i Seafsa T

(h=6.6x 1034 ST x ¥.)

(L 1017

@) 1016

(3) 1015

(4 1018

4

10.

11,

12,

13.

Hindi+English

A cup of coffee cools from 90°C to 80°C in t minutes,
when the room temperature is 20°C. The time
taken by a similar cup of coffee to cool from 80°C
to 60°C at a room temperature same at 20°C is ;

o T
® 1ot
® =t
@ ot

A nucleus with mass number 240 breaks into two
fragments each of mass number 120, the binding
energy per nucleon of unfragmented nuclei is
7.6 MeV while that of fragments is 8.5 MeV, The
total gain in the Binding Energy in the process
18 ;

1) 9.4MeV
@  804MeV
@) 216MeV
@  09MeV

For a plane electromagnetic wave propagating in
x-direction, which one of the following combination
gives the correct possible directions for electric
field (E) and magnetic field (B) respectively ?

MA FA T
D —j+k —j-k
PR Y MM
@ ik =ik
SN Mo
@) itk —itk
A A A A
@ ik, j+k

The number of photons per second on an average
emitted by the source of monochromatic light of
wavelength 600 nm, when it delivers the power of
3.3x 10~ 3 watt willbe : (h=6.6 x 10~ 534 Jg)

1 1017
2 106
(3 1015
@ 1018
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14,

15.

16.

TH HU Yol Fag | S SR | fRen s g e
ffvaa S W gme! Tias S suent feafast ot =t
T AT S S| S &701 Rt et TaE W HaE q
T T =T B Y

@ S 368
4 2
@ 2 L8
S [3gS
@ TN
S 3gS5
S
feu T Hamm O gon aifia §
&
| 1
11
— —C L
|1
11
5,
O 2
@ P
@ 302
@  3C

fcEm® T fa F IR TF L WaFd & TF, UF
C oaT &1 9 99 OF R’ Ay 1 gieiees
V AR faarm & Toad a9 il Fa T 2 2

L, C, R W fayea a9 40 9iee, 10 i 920
40 9w 1 LCR 9v1 gfigy o warfea gm

1042w &) uftay = wiqemn €

T —AA—

«— 40 V—r<— 10 V—«— 40 V—>

()
L
\%
) 52 ™
(2) 4™
(3) 53MW
@ 4 /2¥m

5

14,

15,

16.

N3

A particle is released from height S from the
surface of the Earth. At a certain height its kinetic
energy is three times its potential energy. The
height from the surface of earth and the speed of
the particle at that instant are respectively :

S 4/3gS
1) = —
4 2
S /3gS
@ 35
S5 [3g8
(3) 1\ 2
S5 3gh
@) 4’ 2

The equivalent capacitance of the combination
shown in the figure is ;

C
| |
[
— o 1) e
| |
[
C
a 20
@ 2
G 3072
@ 3C

An inductor of inductance L, a capacitor of
capacitance C and a resistor of resistance ‘R’ are
connected in series to an ac source of potential
difference 'V’ volts as shown in figure.

Potential difference across L, C and R 1s 40 V,
10 V and 40 V, respectively. The amplitude of
current flowing through LCR series circuit is

10v2 A. The impedance of the circuit is :

WAA—

«— 40 V—>«— 10 V—«—40 V—>

(~)
>/
V
S TNERY)
(2) 4 £}
(3) 5 L)
@ 420
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20.

21.

T fedmfra =EemEe 1 sderyg 100 w2 ¥
150 B 3 TG WRIFTH HfFHam o1 == gl foercdeh
WFT BT

1)

Sk

(2)

w | b

2
@ 35
@ 172
U & % few d g W U 20 YA B gl
T ST T A’ U1 5 HHI. BiHE U F ITEad
=T B @ ¥ Afg ‘A’ W AIiaa HHR TR I,
B & Feper R o FERR T @ R, @ gh
.t F 2l
1 15
@ 50
3 30
@ 2
FeraTTeR we ey forga & o wan wmar 81 9% form
T # fa =wem ?

Tk
TR T Fifeh S Fefast S we |
T T i o feafast i =it
@)  TEl T i e feafast =il s |
(4) = W i g1 Feafast St e |
M EFHM TAT d S W1 B g 1 3 Tee= 9
W T H TR W $E T 915 =R @ W ¥ afg

ﬁmﬁ#wm%s‘rﬁﬁﬂ%{waﬁwww

B
(1)

@)
3)
4)

Tl Tae | TR o v B UM SHH YA a4
ge=f & i 3 =R T R arel g U8 o §ag |

(1)
2)

TAT &7 BT ©
O 2

@ 8v

Q) 4v

4 v

6

17.

18,

19.

20.

21.

Hindi+English

The half-life of a radicactive nuclide is 100 hours.
The fraction of original activity that will remain
after 150 hours would be :

1
(1) 372
2
@ 3
2
3) 372
@ 1/2

A convex lens ‘A’ of focal length 20 cm and a concave
lens ‘B’ of focal length 5 cm are kept along the
game axis with a distance ‘d’ between them. If a
parallel beam of light falling on ‘A’ leaves ‘B’ as a
parallel beam, then the distance ‘d’ in cm will be ;

1) 15
) 50
(3) 30
4 25

A dipole is placed in an electric field as shown. In
which direction will 1t move ?

%4
gl s m """"" .} b
] B
T
(1)  towards the right as its potential energy will
decrease.
(2)  towards the left as its potential energy will
decrease.
(3)  towardsthe right as its potential energy will
ncrease.
(4)  towards the left as its potential energy will
ncrease.

The velocity of a small ball of mass M and density
d, when dropped in a container filled with glycerine
becomes constant after some time. If the density

of glycerine is d , then the viscous force acting on
the ball will be?

() Mg
3
2 5 Mg
@) 2Mg
Mg
@ e

The escape velocity from the Earth’s surface is v,
The escape velocity from the surface of another
planet having a radius, four times that of Earth
and same mass density is ;

(1) 2 v
2) 3v
(3) 4 v
@ v
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22,

23,

24.

25.

ww Yfedrafea v Sx @ faufeq & 2

%X —}Z_lBﬁz_gc —}Z_2D hH ﬁ, ‘_ﬂﬁ Z

X &1 WA €A ¥ %A H fauien weya w1 E
ShAERT: ¢

(1) ;1, BT. B~
@ P e BT
3 P, pt
@ «p”, BT
W - I 1 ey - 1T & gAfera sifsw g = ko
T forredl & W gafea =i sife ;

T - | e - 11
(&) 'PIH%ST‘E?}?IET (P) l111:[1!._;12

1 AT ol o

3 RT

® oy e g AR e (Q ’T
© sFHATIE I R®R) %RT
D) 1¥a BEE T (©) %kBT

e ST ool

O A-@Q.B)-®),(©C)-®), -
2 A-@.B)-@),©)-®),D)-R)
@ A-®),B®-@,.©C)-®),D)-©)
@ A-®),®-P),0-6),0)-@
Tk TR & 9@ & fau 15 FE, = X 3
60 . S=mE 4 Ul fIRaT €1 ST & RO IR

fratt =it % 10 Ufava = B Bt €1 TEEAF T

et oife o= =1 ST £ 2
(g=10H1./4.2)

(1) 8.1TFcEr

@ 12.3TFcmER

@) 7.0TFcER

@)  10.2TFcmER

T SRS 519 Uk qR % & 1 9191 & g vgaa
oo T 2, Pt e 3

A T % 9IeEiE = 0 fHefiHiey

FHI THM 1 9SAF = 52 GH

Tz rn ® For g YA W 1 firefeier, oeig Yam
% 100 @WFI % TG gaT ¥ SwiE fu ™ Yai &

AT o1 &9 2

(L) 0.026 H.HI
2)  0.26 9.4,
(3) 0.052H.HI
(4 0.52FM

7

22.

23.

24,

25.

N3

A radicactive nucleus ‘%K undergoes spontaneous
decay in the sequence

%X —}Z_IB —}2_30—}3_2]], where Z 18 the

atomic number of element X. The possible decay
particles in the sequence are :

O e BT, BT
@ BT o B
3 BT, o BT
@ e« pT, BT

Match Column - I and Column - II and choose
the correct match from the given choices.

Colunmmn -1 Column -11

1 =
(A) Root mean square ) gnm ok
speed of gas molecules
3 RT
(B)  Pressure exerted Q) ™M
by ideal gas
(C) Average kineticenergy (R) gRT
of amolecule
(D) Totalinternalenergy  (S) % krT

of 1 mole of a
diatomic gas

1 A-@Q,B)-R),©C-6),D)-(F)
@ @W-@Q.B-P).C-5),D)-R)
@ @W-R),.B)-@),©C-F),D)-©B)
@ @A)-ER),6)-F).0)-6),0)-@Q

Water falls from a height of 60 m at the rate of
15 kg/s to operate a turbine. The losses due to
frictional force are 10% of the input energy. How

much power is generated by the turbine ?
(g=10 m/s?)

1) 8.1kW
@ 12.3kW
@ T.0kW
@4  102kW

A screw gauge gives the following readings when
used to measure the diameter of a wire

Main scale reading : 0 mm
Circular scale reading : 52 divisions

Given that 1 mm on main scale corresponds to
100 divisions on the circular scale. The diameter
of the wire from the above datais:

(1) 0.026cm
2) 0.26cm
3  0.052cm
4) 0.52cm

T
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27,

28,

29,

T FHFRK e 9 F W2 % &1 THEHHE
forga & B #1 afs @ ¥ e 1 gl @ T T
e F SFEA A’ B o eifey § uwle =it
% 1 (g, =Tl =1 foregmefieran

()  &,EAd

@ %EHEEAd

E2Ad
€0

i
20

(3)

@ Ly

T HTE HeT o GehTIl GUTS! T8 W N TR i
T faeaeesre T eafag ot 81 Ak a9
ST “m’ TN & BRIBEEH i S-siell qiee
Ag E‘T, G

A= [% )}C‘"

(1)

@) M=

3)

@)

s faweETd) a9y | 1.5 9 9919, &l UF |9
36 Q. IR ¥ TR W Hyfoa fag & ¥ Ak
2.5 ae fa e, sl gud O veel 9 s Hfaeenfia
F 5, o R % 59 o=R W Agfaa fag o
B ?
(1)
(2)
(3)
4)
HHM I8, HHA A5 T & &% a9l F9H
TerY F HHARK WH H IS 9R 9’ w1 ged giaay

0.25 3™ ¥ AfE T 9o 9 I i oo s, 4
Tt FfeRie 2 2 ?

() 0.53™
2 13™m

@) 43

@)  0.25%H

21.6 9.4,
64 9.
62 9.,
60 9.1,

8

26.

27.

28.

29,
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A parallel plate capacitor has a uniform electric

field ‘E’ in the space between the plates. If the
distance between the platesis‘d’ and the area of
each plate is ‘A’, the energy stored in the capacitor
is : (€, = permittivity of free space)

(1) &,EAd
1 2
@ —eoE*Ad
2
i E?Ad
o
1 2
@) EE(}E

An electromagnetic wave of wavelength } is
incident on a photosensitive surface of negligible
work function. If ‘m’ mass is of photoelectron
emitted from the surface has de-Broglie wavelength
Ay, then :

2
o )

(2me). o

A= —— A

2) N ]d
£ 9k >

A= — A

(3) \ INC i
fomY 2

A=l — A

4 e M

In a potentiometer circuit a cell of EMF 1.5V gives
balance point at 36 cm length of wire. If another

cell of EMF 2.5 V replaces the first cell, then at
what length of the wire, the balance point occurs ?

(1) 21.6cm
(2) 6B4cm
3) 62cm
(4) 60 cm

The effective resistance of a parallel connection that
consists of four wires of equal length, equal area of
cross-section and same material is 0.25 (. What
will be the effective resistance if they are connected
in geries 7

1O 050
@ 10
@ 40
@ 0250
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30.

31

femmu T T WEE % A 0 5 TR W o |

TEIfE Bl B = % GER UH SO
105 T4, = =0 H TG 1 &1 Uk &19 W a2
AT AAF o 19 T g 20 HAL §1 SH AN W
$ERM g SYE ffa ST a9t & 9iEm i

IO TSI |

Electron v=10% m/s

s

20 cm

P 151 Q

1) 8wx10~20=gq

@  4wx 10202

(3) 8x10~20=ges

@  4x10~20%peq

T ‘R P it A arEr hfae # OR T 5Eeh
JTIRY FIE W U9 U 4 foaia ¥ 1 few & s

T &3 B(r) F 9RedT higd A W v g &
qroey yefela foram wimar 2

L B q

@ B| / a

® B kil

@ B g

9

30.

31.

N3

An infinitely long straight conductor carries a
current of 5 A as shown, An electron is moving
with a speed of 10% m/s parallel to the conductor,
The perpendicular distance hetween the electron
and the conductor is 20 cm at an instant,
Calculate the magnitude of the force experienced
by the electron at that instant.

Electron v=10% m/s

B

20 cm

Lo,
P 5A Q
(1) 8rx10~20N
(2) 4wx10"20N
(3) 8x10-20N
(4 4x10-20N

A thick current carrying cable of radius ‘R’ carries
current ‘I’ uniformly distributed across its
cross-section. The variation of magnetic field B(x)
due to the cable with the distance 'r’ from the axis
of the cable is represented by :

1

1 B
T —

]

2 B
T —

I

3 B
T —i

!

@ B
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32,

33.

34,

36,

fosm 4 foiq =W F 09 = I FSQ HF H
STUEdAIE V3 B

— 60°
L 30°
@ 45
@) 90°
4 60

W - I Y = 9 v U 9w §569
iferer et STaT S B | TR - T1 THM TR S
o o wferr afimfer &t 8, %1 o=@ o= ¥l
R - T S Xae - [T 4 92 S g0 ghfer Hifs ;

T - 1 T - 11
I

@) ST A ® a2z

®  Torgda wfadiyera (@ neyy

©) Hid w ®R) %T
E

D) YR () 3

1 A)-R), B)-(S), (C)-@Q), (D)-(P)

2  A-®), B)-P), (O)-(8), D)-(Q)

@) A-®), B)-Q), (C)-B), (D)-P)

@  (A)-R), B)-(S), (C)-FP), D)-(Q

T T8 10 <[ F 5e 9 5 A.H. f&= gl &1 v
2 T30, ZoomF o) 369 TR Sl €, T e o
TR BT |

1) 6.289FTE
@) 3.149FTE
3) 0.628 UFUZ
@)  0.0628 TFTE

Iig =6 [F], ™R [A] 991 999 [T] # 987 ©ifaw
TS A e S, o 35l ohi formn 9 it |

L [FI[AI[T?]
@  [FI[A][T]
8  [FI[ATI][T]
@  [F][A][T]

10

32,

33.

34.

35.

Hindi+English

Find the value of the angle of emergence from the
prism. Refractive index of the glass is V3,

N 60°
O 30°
(2)  45°
3) 90
@ 60

Column - I gives certain physical terms associated
with flow of current through a metallic conductor.
Column - II gives some mathematical relations
involving electrical gquantities. Match
Column - I and Column - II with appropriate
relations.

Column -1 Column -11

m

(A) Drift Velocity ) 2 5

(B)  Electrical Resistivity @ neyy

(C) Relaxation Period (R) % 7
‘ E

(D) Current Density () .

1 AR, B)S), (O)-Q), D)-F)

@  A-®R), B)-F), OGS, (D-Q)

3  A-®), B)-@Q), O-S), D)-E)

@ (A-R), B)-G), (O)-F), D-Q)

A gpring is stretched by 5 cm by a force 10 N. The
time period of the oscillations when a mass of 2 kg
is suspended by it is

() 6.28s
2 3.14s
(3) 0.628s
) 0.0628s

If force [F], acceleration [A] and time [T] are
chosen as the fundamental physical quantities,
Find the dimensions of energy.

) [FI[A][T?]
@  [F][AI[T1]
@ [FI[AT][T]
@ [F][A][T]

T
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36,

37,

38,

U - B ( ifaent )
& .15 fwam, = Wt 10 #Y. SS9 4 fred s 2

T STH W T G HAE 9% Ioeidl §1 T W

M ME AT FHT ufimrer ghar €, AN

(g=10H1./4.2)

(O 4.2 & <. /9.
(2) 2.1 "R xHL /¥
(3) 1.4 T xHL/H
@) ofEIm <. /3.

T T 99 & SR 1y, vy AT v, Wi @A
wirdiees S T ¥ uRey # vy wiadel % ol |

S ?TW@HTTH%:

0
® i
® i
@ im

& U1 R 591 & g9 | 99 =1e 9 70 3 gU TS
TFHF YU A T T T 2

afc @@t ww dfasr § 3 =@ § ww e W wafw
foran ST, 1 4R 3 SR AR ST T I |
T {07 ‘6" T IR §

, 1
() O=cos LEE #
. gT
1
25 V2
@  0=sin™’ LE
. gT
1
@  O=sin"" 2gé—T2 ‘
LT R
1
@ 0=cos ! ﬁ A
m°R

11

36.

37,

38,

N3
Section - B (Physics)

A ball of mass 0.15 kg is dropped from a height
10 m, strikes the ground and rebounds to the same
height. The magnitude of impulse imparted to
the ball is (g= 10 m/s2) nearly :

(1) 4.2kgm/s
2 2.1kegmfs
3 l4kemfs
4) Okgm/s

Three resistors having resistances ry, r, and ry
are connected as shown in the given circuit. The

. b ) )
ratio i of currents in terms of resistances used
3l
in the circuit is :

O Him
@ 1in
@ Him

A particle moving in a circle of radius R with a
uniform speed takes a time T to complete one
revolution.

If this particle were projected with the same speed
at an angle ‘0" to the horizontal, the maximum
height attained by it equals 4R. The angle of
projection, 8, is then given by :

1
o
1) 8=cos [wz—l: é
g™ )
1
/ 3
@  8=sin" '”z—ﬁ -
81" )
1
7
(3) B:Sjn_l @ A
L T R
1
2 Vs
(4) 0 =cog } [_gT }
2
7 R
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39.

40,

41.

432,

T STH=TAT SR ST 220 ST & Yeradi gid |
IS ¥, 11 AIee, 44 91 T 9 1 1 | ST
H v &1 =1 0 A gU, IRt 9iiey | u
1 Bt 7

() 0.4TEER

2) 2T

(3) 4ufFER

4  0.2WFRR

T 200 917, =TS 741 500 TH o879 6l T4 D€
TF o9 & 40 A, oW | dgfam 2 &1
2 fFm. + g=mm 25 ¥ 20 9. R faf=a e
ST & 9 S0 SN EEE m’ B | 160 WA
fremm 9 frerfiea foran <tran 81 3@ T ‘m’ 61 9
o 95 Aqe TR § W1 (g=10 91./4.2)

0 20ecm 40 cm 160 em

A

2 kg

(L) % for.am.

(2) % .

2
12

il
(4) S f=m.

T 122 T 941 UfaUY ‘R’ o1 99H a9 17,

@  ‘a ¥ % THag Gy qen

() ‘a’ Y F B & AR HI IRGRI FoSal §
Trel Sl B

UF FHUSH! bl Grahid fgyd STeul e § ¢

(1) 3Ia%q9uIa?

(2)  31a%dU 41a2

(3) 41a% 91 3 [a2

(4 J3laZ2war3Ia2

T FE Tame ¥ WRE 1 € a9n 5 {92 9§
T Bl 8| t=4 Vehve WHR H &3 = g wk
g figgs! & wreR el <l 81 ¢=6 Sove Wilg
T T qAT OO B g 2 (FEam # : g=10 /A2
(1) 20HLA, 0

@ 2027H.A, 0

@) 2042 WA, 10 A2
@ 2094, 5 /A2

(8) ..

12

39.

40.

41.

42,

Hindi+English

A step down transformer connected to an acmains
supply of 220 V is made to operate at 11V, 44 W
lamyp. Ignoring power losses in the transformer,
what is the current in the primary circuit ?

) 04A
@ 2A
3 4A
@ 02A

A uniform rod of length 200 cm and mass 500 g is
balanced on a wedge placed at 40 cm mark. A
mass of 2 kg 1s suspended from the rod at 20 em
and another unknown mass ‘m’ is suspended from
the rod at 160 em mark as shown in the figure.
Find the value of ‘m’ such that the rod is in
equilibrium. (g=10 m/s%

0 20em 40 ecm 160 cm
A
2 kg m
1) % kg
® gk
(3) % kg
) % kg

A uniform conducting wire of length 12a and
resistance ‘R’ is wound up as a current carrying
coil in the shape of,

) an equilateral triangle of side ‘a’.

(i) asquare of side ‘a’.

The magnetic dipole moments of the coil in each
case respectively are :

(1) 3IlaZandIa®

(2) 3laZand4Ia?
(3) 4Ia?and 3Ia?
@  J3Ia%and 31a2

A car starts from rest and accelerates at 5 m/s2,
At t=4 s, a ball is dropped out of a window by a
person sitting in the car, What is the velocity and
acceleration of the ballatt=6s?

(Take g=10 m/s%)

(1) 20 m/s, O

(2)  20v2 mfs, 0

(3) 2042 m/s, 10 m/s?
(4) 20 m/s, 5 m/g?
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43.

44,

456,

46.

TF ‘m’ Ro99M F1 9 YA qag 9 9UH o7
v=kV_(k < 1) 9 9&fud foran sm 81

(V, =TeTra =)
T % EH T6E % S UTW 1fema S §
k 2
o ®)
R%k
@ 17k
Rk?
(3) 1_k2

2
k
@ R[ﬁ]
T |ES 27 < Tl 220 e W AN Sl
g1 3 oo T 91 93 At ¥ 1 99 9§ % fae

=l IO RIS |

(L) 13209
@) 15209
(8) 198042
@ 66092

TF 9ot LCR iy # 5.0 ¥ &1 IH, 80 AIE5H
e T SIRGT AT 40 37F 1 YR 230 Siee %
TRada sTgfa & T e § 92 §1 TR
HIvia eTgfa W wifsk +t omeft wiam wmrafa w4

el | <h1 I Agiaar e
(1) 50 de=F/4., 25 (eT/9.
(2) 46 JeT/4., 54 Fea=/4.
(3) 42 de=A/4., 58 Yeo/9.
(4) 25 de=A/9., 75 Wea=/4.

‘M T a0 ‘R 5= & & 99 3o | 90°
HAF2L o W b 19 (37h) B fen S & 1 9 §¢
Tl o T R TS ST Boed o ek o oI At
T B o T o oRele 219 & T8 ‘MRZ &1 K’
T ‘KAAAS :

7
(1) 3
1
(2) I
1
(3) 3
3
(4) %

13

43.

44,

45,

46.

N3

A particle of mass ‘m’ is projected with a velocity
v=kV_(k <1)from the surface of the earth,
(V,=escape velocity)

The maximum height above the surface reached
by the particle 1s :

9
R ko
1+k

D
R%k
@ 17k
ng
® 12
2
k
(4 R[ﬁ]

Twenty seven drops of same size are charged at
220 V each. They combine to form a bigger drop.
Calculate the potential of the bigger drop.

() 1320V
2) 1520V
(3) 1980V
@ 660V

A series LCR circuit containing 5.0 H inductor,
80 wF capacitor and 40  resistor 1s connected o
230V variable frequency ac source. The angular
frequencies of the source at which power
transferred to the circuit is half the power at the
resonant angular frequency are likely to be :

(1) 50rad/s and 25 rad/s
(2) 46rad/s and 54 rad/s
(3) 42rad/s and 58 rad/s
(4) 25 rad/s and 75 rad/s

From a circular ring of mass ‘M’ and radius ‘R’ an
arc corresponding to a 90° sector is removed. The
moment of inertia of the remaining part of the ring
about an axis passing through the centre of the
ring and perpendicular to the plane of the ring is
‘K’ times ‘MR?%. Then the value of ‘K’ is :

7
Q) 3

1
@ 7

1
@ 3
@ =
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47,

48,

49,

TUTehthel
F i W

— A M P
=qux[Bi+Bj+Bﬂk)

s Fa s

: —
H,q=19q v=2i+4j+6k

— Tt

PN Pyl
F=47-20;+12k % 8
B o Tl SisTeh ST 8 2

Fal M P

M —6i-6j-8k
M P P
@)  8i+8j-6k

M M Fal

B) 6i+6;-8k

i M LAt

~8i-8j—6k

30 9.H. wEEE T F I 9 € 60 9HL g W
e fag avg sufeem 31 afg w& w9aer gdu, e
&7 & TTreEq a9 39 40 HHL g W@ S E, @
a1 wferea 9 TR g4

A
Y

1) 30 9.HL. T |, 9g greafass gfafes g
2) 30 9.H. ST T H, Tg e wfafe
BT
20 9.H. GHTA TUU W, Ig ST Wt
BT
@) 20 9.H. o= |, 9T greafass gfafe g

R, 1 R, TRt =1 < =ietehi™ geiid o9 U aot |
T Wil § 1 AR R > > R, T I T84 TREf
T ‘M T S E

Ro

Ry

(@)

(3)

(1)

2)

(3)

4)

14

47,

48,

49,

In the product

- (—> —>)
F=q\vxDB

— FAS FA A
=qux\Bi+Bj+Byk

M M

_}
Forg=1land v=21+4j+6%k and

— Fal Fal

s

F=4;-20;+12k

Hindi+English

._>
What will be the complete expressionfor B ?

Fal s Fal

@D —6i-6;-8k
@  gi+si—s6k
@) 6?+6§—83
@  _si-si—6%

A point object is placed at a distance of 60 cm from
a convex lens of focal length 30 em. If a plane
mirror were put perpendicular to the principal axis
of the lens and at a distance of 40 em from it, the
final image would be formed at a distance of :

N

NN RORINTN

+—60) cm—>—40 cm—>

1)

image.
@)

virtual image.
3)

virtual image.
@)

image.

30 cm from the lens, it would be a real
30 em from the plane mirror, it would be a
20 em from the plane mirror, it would be a

20 em from the lens, it would be a real

Two conducting circular loops of radii R, and R,
are placed in the same plane with their centres
coinciding. If R,>> R, , the mutual inductance M
between them will be directly proportional to :

D i_f
2) g_i
3) E—%
) E_;

sh

T

collegedunia:s

India’s largest Student Review Platform



Hindi+English

50,

o1l.

D2,

o1 7 faer ®, faeh fesiew fome fad A, B e
C W 3T 63 o €1 faX y R frla fammar =
am ?

A

W
<

C
o
tp tg tg ty tg ty

O I I O O O e
—5V
e 0V
(3) 5V
— 5V
& oV

T - A ( TEREFAYIRA )

TeR SIThTVI ST ( SIS Tatiee ) Uaheh hiltSa
T aquhaRd Ud TR sl @ 9@ &g
ﬁ@ﬁw%:

10 6,12
@ 2,1
@ 12,8
4 84

BF , T& THq6d Td oiag A 3 &1 e
TTATY 1 HEHW TS I Rl IR TSl ol QAT
2, SE:

() sp®TES6
2 sp?TWA6
3 sp?TAS
@ spiTE4

15

50.

o1,

02,

N3

For the given circuit, the input digital signals are
applied at the terminals A, B and C. What would
be the output at the terminal y ?

. ty tp oty oty ty g
A
B : |
0 : ; |
C
0
A
O—
B
0—
)
C
[o DE——
b Gy by B ke B
¥y
(1)
[ A O T
——bHYV
(2)— IRY
(3) 5V
S 5V
(4) L oV

Section - A (Chemistry)

Right option for the number of tetrahedral and
octahedral voids in hexagonal primitive unit cell
are '

(1) 6,12
2 21
@ 12,86
4 8,4

BF, is planar and electron deficient compound.
Hybridization and number of electrons around the
central atom, respectively are:

(1) sp?andb
() spZandé
(3) spZand8
4 sp®and4
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53.

04,

95,

= 1 o form fafy =1 s === srafis s ag =
M T TR e N FHF AT RIS ?

(1)  FfrEst

2) IEEA

(3) HSH IR
(@)  TorRga sTTer=T

fret stfufmen A—B & foau afufsra =1 w0
— 4.2 kJ mol ~ 1 w8 Gigaw Tl T 9.6 kJ mol 1
g eifvfmen & fou we feafas =i em@ =

i

L\

B

(1)

—

. -
Reaction Progress

M

VAN

2
¥ A B

b

Reaction Progress

E !

! B

3
3) PE| ,

a9

N -
Reaction Progress
F 8

VAN

A

)

.

Reaction Progress

IR Wl H A ST TR sifafEer & uia

TR S 01 U1 ¥ | 379 Wi~ ST U

M |

) g@lﬁﬁ@f#ﬂmqﬁaﬂmaﬁﬁ@ﬁ
!

T i o e afs 99 2

IFs Tl & soiagi oifed TRl &1 96 3

AT B 6 |

IF 8 5 | o1y o ¥

2)
(3)

)

16

53.

54,

55.

Hindi+English

Which one of the following methods can be used to
chtain highly pure metal which is liquid at room
temperature ?

(1)  Chromatography
(2)  IDhstillation

(3) Zonerefining

(4)  Electrolysis

For a reaction A—B, enthalpy of reaction is
—4.2 kJ mol~! and enthalpy of activation is
9.6 kJ mol 1. The correct potential energy profile
for the reaction is shown in option.

/

L\

D
Reaction Prngregs
A
(2) . A B
Reaction Progre:s:s
M
N
3) A
Reaction Progregs
A
PE /\
@ = B

-
Reaction Progress

Noble gases are named because of their inertness
towards reactivity. Identify an incorrect

statement about them.

(1)  Noble gases have very high melting and
boiling points.

(2)  Noble gases have weak dispersion forces.

(3)  Noble gases have large positive values of
electron gain enthalpy.

(4)  Noble gases are gparingly soluble in water.

sh
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56.

o7.

98,

99,

60,

SfTan FEES 1 S IR U o9 STeReT o
T 2

() B H

2  swE foorn uE Wi

(® = s

@) FHI S ud fgersn

HATI

3T w2 U T FHHER <& ©
HF << HCl << HBr << HI.

RUTIL:

S-S 98 § = S WS F, Cl, Br, I 9 3THR
o1 Sl & 99-99 HF, HCL, HBr Ud HI & 4 &t
Tl STl S & | 374 STl | Sgdl S © |
U w1 o Wi | A= feu gu fawedi | 9 weét
S |

() SHARITITE HATII T |
@  HATI TR T Afeh e I e B
(3) YT T ¥ AT e I W B
@ T T wd wmaT I T €

e sigerehl | § $F AT SgaeT & g Mt
T i % 2

() FBAH-66
@  AEeE
@

@ TFE

31fel g Y, 78 feoell %1 U WM 1,368 kHz
(frelt &d=1) =t Igfa W YORT &=al 1 HERE
(zHTeR) R Seafd faga T fafe &
aoreed ¥ o [WH 1, c=3.0x 108 ms—1]

(1) 219.2m
2y 2192m
(3) 21.92cm
4 219.3m

Zr (Z=40) T8 Hf (Z="72) & WHIVaF U5 =6
Tt w9 1 THE SR

(1) Tl Srery

@ RIS g

3 S % ErEaftE e gee g
@ = EE e % 9RE 6

17

56.

57.

08,

29,

60.

N3
The structures of heryllium chloride in solid state
and vapour phase, are :
(1) Linearin both
(2)  Dimer and Linear, respectively
(3) Chain 1 both

(4)  Chain and dimer, respectively

Statement I :

Acid strength increases in the order given as
HF << HCI << HBr << HL

StatementI1 :

As the size of the elements F, Cl, Br, [ increases
down the group, the bond gtrength of HF, HCI,
HBr and HI decreases and so the acid strength
increases.

In the light of the above statements, choose the
correct answer from the options given below.

(1) Both Statement I and Statement II are
false.

(2) Statement I i1s correct but Statement I1
is false.

(3) Statement [ is incorrect but
Statement II is true.

(4y  Both Statement I and Statement II are

true.

Which one of the following polymers is prepared
by addition polymerisation 7

(1)  Nylon-66
(2) Novolac
(3) Dacron
{4y  Teflon

A particular station of All India Radio, New Delhi,
broadcasts on a frequency of 1,368 kHz (kilohertz).
The wavelength of the electromagnetic radiation
emitted by the transmitter is : [speed of light,
c=3.0x108ms—1]

1)y 2192m
2y 2192m
3) 21.92ecm
4 219.3m

Zr (Zi= 40) and Hf (Z = 72) have similar atomic and
ionic radii because of :

(1)  diagonal relationship

(2) lanthanoid contraction

(3)  having similar chemical properties
(4)  belonging to same group
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61.

62.

63.

64.

65,

66,

T -1 i1 freT ge-11 | & |
-1 TEr-11
@ PCl @ = TS
(b) SFg i) e guaei=
(©  BrFj (i) STEEHARI
d BF,4 v Treivf fgfrata
= few e fomred 4 9 G SR A |
1) (-G, (b)-(ii), (c)-1v), [d)-1)
2) (-G, (b)-(), ©-(iv), (d)-@11)
@) (@-Gv), (b)-Gii), (¢)-(ii), (d)-(1)
@ (@-Gv), Bb)-Gii), (¢)-(), (d)-(ii)

e varafaes sifafear § b sEfes e 0
[UPAC 9 1§ 7

(i) CoH MgBr, 7% dav
SICh (ii{; H,0, H' &l
(1) UeA-2-37d
(2)  UmeA-8-37d
@)  2-Tfue FgeA-2-3id
(@)  2-Ofe guE-2-s1a

TF FEF AR 5 78% (YR gR) FE- T4 I
TSI SEEISH = A= & | §9 AT % Jengar! 9
- T fareu & [T YR : C=12, H=1]

(1) CH,

@ CH,

3 CH,

@ CH

T (K) R SRAMATHA #1 pK,, T& THifeF o7 &0
pK, T A 3.27 TH 4,77 ¥ SEAFFwe™m
whee faeET % pH %1 9el e §

(1)  5.50

@ 775

(3) 6.25

(1) 850

Y fered vy e & g weitia fren s €10 W
Teresheg < |

1) TR faerm

(2) = EerE

(3)  gian faeraA

()  NaCl o=

TESISH &1 U (eduiaes e, 2rgfesd, F
H § 56 07 &7 IS e 22

(1)  STH (o)

(2)  TMI(y)

3 EH @)

@ SRE-)

18

61.

62,

63.

64.

65.

66.

Hindi+English

Match List - I with List - I1,

List -1 List - 11
(@  PCl; (1) Square pyramidal
(b) SFg (i)  Trigonal planar
(©  BrFj (i) Octahedral
) BF, @v) Trigonal bipyramidal

Choose the coxrrect angwer from the options given
below.

1 @-@), (b)-i), ()-iv), (d)-0)
@  (@-i), ()-Q), (©)-Gv), (d)-{D)
@) (@-v), (b)-(), (c)-(), ()-@)
(9 @-v), )b, (0)-@), (d)-Gi)

What is the IUPAC name of the organic compound
formed in the following chemical reaction ?

(i) CoHsMgBr, dry Ether

Acetone s Product
(i) H,O, HY

(1)  pentan-2-ol

(2)  pentan-3-ol

(3)  2-methyl butan-2-0l

4)

An organic compound contains 78% (by wt.) carbon
and remaining percentage of hydrogen. The right
option for the empirical formula of this compound
18 : [Atomic wt. of Cis 12, H is 1]

2-methyl propan-2-ol

() CH,
@ CH,
@) CH,
@ CH

The pKj, of dimethylamine and pK,, of acetic acid
are 3.27 and 4.77 respectively at T (K). The correct
option for the pH of dimethylammonium acetate
golution is:

O 550
@ 775
(3) 6.25
) 850

The right option for the statement “Tyndall effect
is exhibited by”, is :

(1)  Glucose solution
(2)  Starch solution
(3)  Urea solution
(4)  NaClsolution

Tritium, a radicactive isotope of hydrogen, emits
which of the following particles ?

(1)  Alpha (o)
(2) Gamma (y)
(3)  Neutron (n)
(49) Beta(B™)
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67.

68.

69,

70.

71,

‘C-X 94 Fl 99 T FI AL HH T

() CH;—F>CH;—Cl>CH;—Br>CH,—1
@ CHy-F<CHy;—Cl>CHy—Br>CH,y—1I
(® CH;—Cl>CHy;—F>CHy—Br>CH,;—1
(4 CHy—F<CHz—Cl<CH;—Br<CH,-1I

=1 faerami = =@ 79

250 m1 ST H 10 g THIE (CgHy 40) Tl HITTR (Py),
250 ml 5@ H 10 g R (CH,N,0) Tl STAH (Po)
TE 250 ml S H 10 g Gohid (C5H,90 ) i Hiereht
(Py) | T forcrri & TXRRw STl 3 Ted H W E
ﬁﬁ:‘?fq% :

() P,>Py>P,
@ Py>P,>P,
3 Py>P,>P,
4 P,>P,>P,

<9 JifiTeR =1 vE=r S Bt srfireHe & e T
i I FATEN S &R | Semeia ©

CHZ P CH3
@ cuy SN
CH,
@ CcHy NH,
CH, CH,
3 CHy “Ilsr"' CH,
CH,
CH,
@ CcH  No,g
AEATEEE Weisid S aren Iifien
()  C3HO
©®  CgHO
9  CHyO
@ CH,
HeTl:
tffE @ Rfaemia wuE feril (ARFfeE
T de) W FH 2 |
HATIL ;

OB Ud &3 3FATes USERl (A(9-TReh<®
T eIfTeR) oF F 2|

ST FUAl & e | i v gu feedl § 9 wd
SEHA |

(1) oF weT I TE w1 7o £
@2 HIT I HE § e e 11 7Terd 2 |
3) HATI O T AR |AT I 9 2
@) T wHgT] TE HmAT I T |

19

67.

68.

69.

70.

71.

N3

The correct sequence of bond enthalpy of ‘C—X bond
18 ;

@

CH,—F > CH, - Cl> CHy—Br > CH, -1
@ CHy;-F<CHy—Cl>CH;—Br>CH,—1
3) CHz;-Cl>CH;—F>CH;—Br>CH,—1
4y CH,—F<CHy—Cl<CH,—Br<CHy—1I

The following solutions were prepared by dissolving
10 g of glucose (C¢H; 504) in 250 ml of water (P),
10 g of urea (CH4N,0O) in 250 ml of water (P5) and
10 g of sucrose (C;sH5507;) in 250 ml of
water (P3). The right option for the decreasing
order of osmotic pressure of these solutionsis :

() P,;>P,>P,
2 Py>Py>P
3 Py>P, >P,
4) Py>P, >P,

Identify the compound that will react with Hinsherg's
reagent to give a solid which dissolves in alkali.

CHy, . CH,
1 CHy Nm

CH,;
@ cay” SN

CH, CH,
@ CHY “‘*rlsl"' ~CH,

CH,

CH,
@ CHY  No,
The compound which shows metamerism is ;
(1)  CyHgO
@ CyHO
@ C,H,0
@  CsHpy
Given below are two statements :
Statement I :
Aspirin and Paracetamol belong to the class of
narcotic analgesics.
Statement I1 :

Morphine and Heroin are non-narcotic analgesics.

In the light of the above statements, choose the
correct answer from the options given below.

(1) Both Statement I and Statement II are
false.

2y Statement I is correct but Statement I1
ig false.

3) Statement I 1is incorrect but
Statement I is true.

(4) Both Statement I and Statement II are

true.
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72.

a1 o fra = 9w e g4 s fafie ari
T 1 T vs. 3TEAA ] TS R @ ;

(1)

2)

(3)

)

—

Pressure (P)
(bar)

—

(bar)

Pressure (P)

—

(bar)

s

Pressure (P)

—

(baxr)

a

Pressure (P)

(200 K, 400 K, 600 K)

Volume (V) —»
(dm?)

Volume (V) —»
(dm3)

00

Volume (V) —>»
(dm3)

00

Volume (V) —
(dm3)

20

V2.

Hindi+English

Choose the correct option for graphical
representation of Bovle’s law, which shows a graph
of pressure vs. volume of a gas at different
temperatures :

1)

)

@)

)

E—

Pressure (P)
(bar)

—

(bar)

Pressure (P)

—

(bar)

Pressure (P)

—

SIs
By

Pressure (P)
(bar)

(200 K, 400 K, 600 K)

Volume (V) —»
(dm?)

Volume (V) —
(dm?)

00

Volume (V) —>
(dm3)

Volume (V) —»
(dm?3)

T

sh

collegedunia:s

India’s largest Student Review Platform



Hindi+English

73.

74.

75.

76,

7T,

78,

2,6-SEUfIA-SF-4-37 I T WEATE
(L)
=
Sy
(2)
®
#
@
49 s F ©
(D) eIy s TR o o sEe o
LU i e
) TS S UE (R F oTe8 waE e & |
Q) UfArTe st afufranie agt E, faew
9§ 5+ o gew faafea €1
@ wIAEE sHE H g § TF 7 ¥ T
T T RS ST o1fieE ¥

=1 srfuferensti O @ =9 g fasemm sifufern §2
e foremed < |

(1) Cry0q+2A1—2— ALO, +2Cr

2  Fe+2HCl—>FeCl,+H,T

8  2Pb(NOy),—>2PbO +4NO, +0,T
@)  2KClO,—2— 2KCl+ 30,

= & | wF @ faerey s A ey W ¥ o
Cp T Cy ¥ TRl Helt] 1 oo L 8 ?

(1) Cp-Cy=R

2 Cp=RCy

(3) C\IZROP

@ Cp+Cy=R

e amfie g wig demesl § ¥ w9 wewEst ua
FIE T Torerenl H Sereie & 2

1) I RIRES

@ Ty wREe

(3) Sy FRES

@) e FAREE

T ¥ freTam s S § fead i g
1) 180°

@  60°

3 @

@  120°

21

73.

74,

75.

76.

7.

78.

N3

The correct structure of 2,6-Dimethyl-dec-4-ene
18 ;

e
Sy
&

The incorrect statement among the following
18 :

(1)  Most of the trivalent Lanthanoid ions are
colorless 1n the solid state.

(20  Lanthanoids are good conductors of heat and
electricity.

(3)  Actinoids are highly reactive metals,
especially when finely divided.

(4)  Actinoid contraction is greater for element

to element than Lanthanoid contraction.

Which of the following reactions is the metal
displacement reaction 7 Choose the right option.

(1) Cry04+2A1—2— ALO, +2Cr
@  Fe+2HCl— FeCl,+H,T

@) 2Pb(NO,),—> 2PhO+4NO, + 0,7
@  2KCIO;—— 2KCl+ 30,

Which one among the following is the correct option
for right relationship between Cp and Gy, for one
mole of ideal gas ?

(1) Cp-Cy=R
2 Cp=RCy
3 Cy=RCp
@ Cp+Cy=R

Among the following alkaline earth metal halides,
one which is covalent and soluble in organic
solvents is :

(1)  Strontium chloride

(2) Magnesium chloride

(3)  Beryllium chloride

(4)  Calcium chloride

Dihedral angle of least stable conformer of ethane
18 :

(1) 180°

2 60

@3 O

4 120
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79.

80.

81,

82.

83.

84,

Tl SRUHFEZHERE (EDTA) TR §

1) uEE e

@) RN @RI % Y R e

(3) I “N” S gETe o WY e e

@ FRO” TS I N7 T TRHS o W TE R
ferr=g

RBC &I &I, a1 Sifa W 8

1) faerfae B, =t

@  faerfaa B, =t

@) o= B, =

4 faerfa By, F

T Wl W ToRaT ST | ST STTeehad argEM

g

() 2200KTF
@ 1900 KT
(8) 5000KTH
@ 1200KT®
=1 Tt sifafran @ g& s 2
CHy
CH - CH=CH, + HBr (Le15C0):0; 9
CH;”
CHj
M CH - CHy— CHy— O — COCGH;
CH;”
CH,
) CH-CH-CHj,4
CH;” |
Br
CH;
3) ~CBr—CH,—-CH,
CH,
CHj _
(4) ~CH-CHy- CHy—Br
CH,4

231 T & oS stfufsran =1 g
IR U2.2-37 B | 3o Sedre & Fwtw smenfia g
2
(L
(2)

30E A W/

R fm =
(3) BFA TEm o
@) TS W

NaCl, HC1 T8 CH,COONa & 3d d3d1 W Hier
HTAGA] A 126.45, 426.16 TF91.0 S em2 mol —1
21 a0 R CH,COOH Fi HieR Areehdl & |
()  390.71 8 cmZmol !

(2) 698.28 ScmZmol !

()  540.48 ScmZmol !

4  201.288 cm?mol !

22

79.

80.

81.

82,

33.

84.

Hindi+English

Ethylene diaminetetraacetate (EDTA)ionis ;

(1)  Unidentate ligand

(2)  Bidentate ligand with two “IN” donor atoms

(3) Tridentate ligand with three “N” donor
atoms

(4) Hexadentate ligand with four “0” and two

*W” donor atoms

The RBC deficiency is deficiency disease of :

(1) Vitamin By
(2)  Vitamin B,
3) Vitamin B,
(4)  Vitamin B,

The maximum temperature that can be achieved
in blast furnace is :

(1)  upto2200K
(2) upto 1900 K
8) upto 5000 K
4  upto1200K

The major product of the following chemical
reactionis:

CH, _
CH- CH=CH,+HBr 150050, 9
CH;” :
CH, _
M “CH- CH,~ CH, ~ 0 COCgHj
CH,
CHj_
@ "CH-CH- CH,
CH, i
Br
CHj _
3) ~CBr—CH, - CH,
CH;
CH, _
@ “CH-CH,-CH,-Br
CH,

The major product formed in dehydrohalogenation
reaction of 2-Bromo pentane is Pent-2-ene. This
product formation is based on ?

(1)  Hund’s Rule

(2) Hofmann Rule
(3) Huckel's Rule
(4)  Saytzeffs Rule

The molar conductance of NaCl, HC] and
CH4;COONa at infinite dilution are 126.45, 426.16
and 91.0 S em? mol ~! respectively. The molar
conductance of CH;COOH at infinite dilution is.
Choose the right option for your answer.

()  390.71 Scm2mol !
2) 69828 S cm2 mol !
(3) 540.48 S emZ2mol—1
4) 201.28 Scm2mol!

collegedunia:s

India’s largest Student Review Platform

sh

T



Hindi+English

85,

86.

87.

88.

Tl 14 THR 3 Sfol STTehi i 310: eh{-a0 Waheh Shiftgeran

I G o fag w9 fawea §
L 5
2 2
@ 3
@ 7
AT - B ( TR )
fou g stopst O 9§ PF SyEE g wE?
() CH,0
@  SbCly
® NO,
4 POClL

45°C T T Taeaq fogd s<im T s7iae &1 9ieR
STU 3 : 2 B, Ik A9 T & T H T2l T
e

[45°C T SS119 1 9159 T 280 mm Hg T S
= A T 420 mm He §1 278! 19 7]

() 168Smm Hg

2) 336 mm Hg

(3) 350mm Hg

4 160mm Hg

=1 Tt sifuferan & ffda sa= %
0 9
CH,—-C—-0CH,
NaBH,
cH, C,H,OH
0
CH,—-CH,-OH
1)
CH,
OH H
2) OH
CH,
OH 0
{ :CH2 =0 —~OCH,
(3)
CH,4
OH H
% :CHE - (::: —-0OCH,
4 OH
CH,4

85.

86.

87,

88,

N3

The correct option for the number of body centred
unit cells in all 14 types of Bravais lattice unit
cells is :

@ 3
2 2
3 3
@ 7

Section - B (Chemistry)

Which of the following molecules is non-polar in
nature ?

1) CH,0
@  ShCl,
@) NO,

@ POCl,

The correct option for the value of vapour pressure
of a solution at 45°C with benzene to octane in
molar ratio 3:21s:

[At 45°C vapour pressure of benzene is
280 mm Hg and that of octane is 420 mm Hg.
Assume Ideal gas]

(I) 168 mm of Hg

(2) 336 mm of Heg

(3) 350mm of Hg

4) 160 mm of Hg

The product formed in the following chemical
reaction s :

0 0

I
CH,-C-0CH,
NaBH, 9

C,H;OH

CH,

CH,—CH,—OH
(1)

ng

CH,
OH H

[
CH,~C~CH,

2) OH

Q,

CH,
OH 0

Il
CH,—-C-0OCH,
(3)

Q,

CH,

OH H
|
CH, - (IJ - 0OCH,

@ OH

Q,

CH,

sh
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89.

90.

91.

92,

93.

gyard aifefaa 5 el el 19 % rqeravia
o & fau uEt fasew 7

(1)  AUZ0, A8 1, %0
@ AU=0, AS, 1570
3) AU#0, AS; =0
@ AU=0,A8,,.,;=0

0.007 M TwHifes JIT +HT AT FATARA
20 8 em2 mol ~ 1 ¥ wHifEF s =1 oo feei
FNE 7 Wl Ty 94

A° += 350 8 em? mol ™!
)1

A° =508 cm? mol ™?
CHzC00
() 2.50x10 *mol L1
2 1.75x10 ®mol L1
(8) 2.50x10 " %mol L1
4 1.75%10 4molL~1
-1 i1 freT= ge- 1 | & |
-1 -1
(@) [Fe(CN)g]®~ 1) 5.92BM
(k)  [Fe(Hy0)gl3* (i) O0BM
©  [Fe(CN)gl4- (i) 4.90 BM
) [Fe(Hy0)gl%" Gv) 1.73BM
= fou T fasredi & @ W& S| g |
(L) (@)-a, (b)-av), (c)-(i1), (d)-Q)
2)  (@-Q), b)), ©-0v), (d)-@)
@) (@-{v), (b)-(G), (0)-G1), (d)-(iii)
@ (@-v), (b)-Gi), (¢)-(), (d)-(iii)

1 e 3R F 0°C W ueF g fsed 4 ¢ 0, w6
2 ¢ H, Tl 7% o, I6H Fe1 I@ (atm H) & HEl
forsreg =l < |

(T : R=0.082 L atm mol~K~1, T=273K]

1) 2.602
@ 2518
@  26.02
@) 2518
l?
CH,CH,C00~Na* Na?gs T CH,CH, +

Na,CO,.
Irdea STl o ST Ul STt AEEH = 9eaH |

(1) A BERRE
@ CaO

(3) DIBAL-H
@ B,H

24

39,

90,

91.

92.

93.

Hindi+English

For irreversible expansion of an ideal gas under
isothermal condition, the correct option is;

(1)  AU=0, AS,,, ;%0
@ AU=0, AS, %0
@) AU#%0, AS ;=0
@  AU=0, A8, =0

The molar conductivity of 0.007 M acetic acid is
20 S em? mol~!. What is the dissociation
constant of aceticacid 7 Choose the correct option.

A° =350 8 cm? mol !

H—i—
A° =508 cm? mol !

CH4C00
(1) 2.50x10"4 mol L.~}
2 1.75x1075 mol .=}
(3) 2.50x107 % molL,~!
@4 1.75x10"4* molL~!
Match List - I with List - IT.

List -1 List - II

(@) [Fe(CN)gJ3~ @  5.92BM
®)  [Fe(Hy0)g]3+ i) OBM
©  [Fe(CN)g4~ (i) 4.90BM
) [Fe(Hy0)g]2+ (v) 1.73BM

Choose the correct answer from the options given
below.

@ (@)-(i), (b)-(iv), (0)-(iii), (d)-()
2 @-0), (b)-(ii), (c)-(iv), (d)-(id)
@)  @-w), 0)-©), (©)-(), (d)-(ii)
(9 @-v), (o)-(@), (0)-@), (d)-(ii)

Choose the correct option for the total pressure
(in atm.) in a mixture of 4 g O, and 2 g H, confined
in a total volume of one litre at 0°C 15 :

[Given R=0.082 L atm mol ~1K-1 T=273 K]

1 2602
@ 2518
@  26.02
@ 2518

g NaOH, + ?
CH4CH,C00~Na* — g "~ CHyCHg+

Na,CO;.
Consider the above reaction and identify the
missing reagent/chemical,

(1) Red Phosphorus
2) CaO

(3) DIBAL-H

4  ByHg
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94. fdl gum *ife =t siife % fau sif=g Tde=m
[ln k v/s %J FHAFAF — 5 x 103K § 1 afufswan
 fIL E, =1 9 @ | et forhey = |
[fe=m 7 & : R=8.314 JK~lmol ~ ]

(D  83.0kJ mol~1
(2) 166 kJ mol—1
() —83kJmol!
@  41.5kJ mol—?
95, T vemfe afufro § geed s x §
0
Il
CH, ) e
@/ +CrO,CL, CS, 2 HyO O/ H
M : _CH(OCOCH,),
_Cl
CH__
© O/ Cl
Cl
n”
(3) O/ H
@ : _CH(OCrOHCL,),
96. G-I 7 T G-I 4 =3 |
-1 11
@ 280, +0,e— G s
280,(g)
) HOCKg) _hv_, i)  YE-HRT
OH+CI
(©@ CaCO;+H,S50,— (i) TSI &
CaSO,+H,0+ CO,
@ NO @) _bv (v) &ivHeEcE
NO(g)+ O(g) R
T faw e faredi § A TR SR |
@O (2)-Gi), b)-iD), (©)-Gv), (d)-6)
(2)  (a)-(v), (b)-(iid), (c)-(D), (d)-(ii)
(3)  (a)-(u1), (0)-(1), (c)-Gv), (d)-Q)
@ (-0, b)-Gi), (¢)-Gil), (d)-0v)

25

94,

95.

96.

N3

1
The slope of Arrhenius Plot [11:1 k vis T} of first

order reaction is —5x 103 K. The value of E o of
the reaction is, Choose the correct option for your
answer,

[Given R=8.314 JK~1mol ~1]

() 83.0kJmol?!
2 166 kJ mol~1

(3 —83kJmol~!
4 41.5kJmol?

The intermediate compound ‘X’ in the following
chemical reaction is :

O
I

CH, C
cs, . H,0* ™~
O/ + Cr0,ClL,—2 X =2 :O/ 3

1) : .CH(OCOCH,),
P
CH\\
@ U a
0
CH\\
- ™
@ CH(OCrOHCL),

Match List - I with List - I1.

List -1 List - 11

(@  2504(g)+0,(g— (@ Acidrain
250,(g)

»b) HOClg)__bv | (1) Smog
OH+C1

{c) CaCOy+H,80,— (iii) Ozone
CaS0,+H,0+CO, depletion

) NOyg _bv (iv) Tropospheric
NOig)+ O(g) pollution

Choose the correct answer from the options given
below.

L @-), (b)-(1), (¢)-av), (d)-0)
2 @-w), (b)-id), (©)-@), (d)-(d)
@) (@-au), (b)-Q), ()-av), (d)-0)
@  (@-©, ()-@), (e)-1), (d)-av)

T
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97.

98,

99,

100,

Al o F=fafEa 79 § § 9 T THgcaeie
THE 2

() Na™t, Mg2+t

(2) Mn2t, Fed3t

(3) Fe2t Mn2t

@ 02 ,F-
weit-1 1 e geir-11 | |
gei-1 -1
CO,HCL
(a) fe@AICl () T-Bleme-
Cull S S
it
(b) R—C—CH,+ (i) TREFE-FEE
NaOX —> st

(¢©) R—CH,—-OH (iii) &R sAfafE
+R'COOH

W% HyS0,
(d) R—CH,COOH (iv) TEERTol
G) Ko/t P
(i) HaO
= feu T fasred o 3 T ST |

(1) (a)-(1), (0)-(G1), (c)-Q), (d)-(1v)

2 (a)-0), (b)-Gv), (0)-(ii1), (d)-(ii)

@) (a)-(d), (b)-(i), (0)-(iv), (d)-(1)

@  (a)-0v), (b)-(G), (©-(1D), (d)-(iii)

= o 9 Tore resen o, 397 T aaTe 9 [0 %
IR, 3=q Y 781 [ T8 ?

1) HyO<H,S ; pK, A & wed FH
< H,Se < H,Te H

2) NH, <PH, o TR WY
< AsHy < ShH, ECSELR

B CO,<8i0, : ST 71 6
< 8n0, < PbO, d FI |

4 HF<HCI : FRAT |HeA
< HBr < HI Hgd HH H

T AfafEm F e d siimds R ®

NSl

NH,
Br Br B B B B
NaNO, HCl YR '
il e —_—
0-6°C
Br Br Er
(1)

CH,CH,OH
@ HI

(3) CuCN/KCN
4 H,0

26

Hindi+English

97. From the following pairs of ions which one is not
an iso-electronic pair ?
(1) Nat, Mg2t
(2) Mn2t, Fed+
(38) Fe2t Mn2+

@ 027, F-
98. Match List -1 with List - I1.
List -1 List -11
(@) CO.HCL | 4y Hell-Volhard-
Anhyd AICLy/ i ,
Cuci Zelinsky reaction
K
() R—-C—-CH,+ (11} Gattermann-Koch
NaOX —» reactlon
(¢) R—CH,—-OH (i11) Haloform
+R'COOH reaction
Conc. HQSD4 .

I

@ R-CH,COOH  (iv) Esterification

() Xo/Red P
() HyO 7

Choose the correct answer from the options given
below.

(D (@-Gid), (b)), (©)-0), (d)-(iv)
2 (a)-), (b)-Gv), (c)-(in), (d)-(11)
(3 (@), (B)-Gid), (c)-(v), (d)-G)
@) (@-Gv), b)-Q), (0)-(1), (d)-(iii)
99. In which one of the following arrangements the

given sequence is not strictly according to the
properties indicated against it ?

1) H,O0<H,5 : Increasing pK,
<Hy5e <H,Te values
2) NH,;<PH;, : Increasing
< AsH4 < SbH,4 acidic character
@3 COy<Bi0, ; Increasing
< 8n0, < PhO, oxidizing power
4) HF <HCI ; Increasing acidic
< HBr < HI strength
100, The reagent ‘R’ in the given sequence of chemical
reactionis:
NH, N2 (1™
Br Br NaNQ,, HCI Br Br i BEr Br
0-5°C E ]
Br Br Br
(1) CH,CH,OH
2) HI
8) CuCN/KCN
@4 H,0
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101,

102,

103.

104.

105.

106.

107.

AU - A (SHHaferr ; sreafafesr )
frafafae 8 4 5 9 39 FUsE SO FE 8 7

() A

2 o Iae

@) fe-sia e
@ T e

FS 99 Sl % faefadeor AR @ifcafn S 7R &
STSIT] SETfed ohed & | TR IRl 2 1 el S § 2
1) BRI
@)  EHSSIE

3) o
(4) ETHMERE

Frefafaa d 9 =, 'l § et Sureas 6
g2

(1)  uH T, Teh
@ Tor=es, s
B TR g

(4) T, HEH

Uy IRl § freer 0 Suftems 9 fan =
HFaAT g ?

(1) 3= Tl
(2 T TR
® e

4 Al

T 1 Bk R & T, A waHT #Rd g U S
il Ty o =i & 79 98 Wishan o e € 2

(1) i fafwem

(2) e FeM
(3) G
(4) AR

frafafas o 9 frw Some § S 9= % ®9 4
e B § 7

(O TR

() oo

@ T

4 TR

feafafard AR T FHA oA e ?

()  FIHM, IRE IR Srgell 2 o uret S €

Q) UIChEE! STHHTE, FE o ST Sufkra U
3R FIfvEFEeT O Suftem Uiyl o st oy
= HH F L

@ Fww feg, FEw R wiftews & & 9Fi
fenetl § UM ofR SR TAT, STt & fom,
T U9 1 Wifd F1E 9 B

@ URYEE = At 9l 3 U W g

37T IR HifERTEeaE ST BN B

101.

102,

103.

104.

105.

106.

107.

N3
Section - A (Biology : Botany)

Which of the following algae produce Carrageen ?
(1) Brownalgae

(2) Redalgae

(3)  Blue-green algae

(4) Greenalgae

Genera like Selaginella and Salvinia produce two
kinds of spores. Such plants are known as :

(1)  Heterosorus

(2) Homosporous

(3)  Heterosporous

(4 Homosorus

Which of the following are not secondary
metabolites in plants ?

(1)  Amino acids, glucose
(2)  Vinblastin, curcumin
(3)  Rubber, gums

(4) Morphine, codeine

Mutations in plant cells can be induced by :
(1)  Infrared rays

(2) Gamma rays

(3) Zealin

(4)  Kinetin

When gene targetting involving gene amplification
18 attempted in an individual’s tigsue to treat
disease, it is known as :

(1)  Gene therapy

(2)  Molecular diagnosis
(3)  Safety testing

{4)  Biopiracy

Which of the following algae contains mannitol as
reserve food material ?

(1) Graciiaria

2)  Volvox

@)  Ulothrix

4)  Eclocarpus

Which of the following is an incorrect

statement ?

(1)  Microbodies are present both in plant and
animal cells.

(2) The perinuclear space forms a barrier
between the materials present inside the
nucleus and that of the cytoplasm.

(3)  Nuclear pores act as passages for proteins
and RNA molecules in both directions
between nucleus and cytoplasm.

(4) Mature sieve tube elements possess a
congpicuous nucleus and usual cytoplasmic
organelles.
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108,

109.

110.

112,

YRS 3 oI UIeUl H WehTsT & STeRTH 1 T
FEATE?

1 T

(2) e HicThI
(3) U=t

@ e

e, SIS, B 3T FHiegmy SH Ui @i
o1 ar, Tt i 7@ v O &6 Wi =t Sl
g7

(1) THHISH
(2)  TRIET SR
(3) TR e
(4) =W T

fr=fafes ° 9 =0 o F7F TF T9E BRee 9"
A FEE?

1) SIERE TS

2 SRR

(3)  ATaErTeR foremer

)  YTERfaE ==

111. ¥t - T et - 11 3 9 gofaa sifsw |
el - 1 el - 1

(a) |[SiTa=sd Herad @) |[qotererman
(b) [U1eY Sk das (ii) [T
(c) [Afr=n gauq (iid) [HrTRE A
(d) [emgerda (iv) [fersio] gerd wicy

= e T faeedl W | wE S g

@ (b)) (©

1 @ @ Gv (i)

(2) @) vy @ @)

@  Gv @) G Q)

4 @ @) G @

frefafaa o 9, vifams ofgen sifafran (b wfem)

& 0N 1 B EE SR E 2

(1)  THfShIeRt, 99R, drarEi

©2) 9ER, TiRaeR, et

@)  arrgEier, Fitsero, JEr

4) TrfSREEERw, arrRier, 6
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The site of perception of light in plants during
photoperiodism is ;

() Stem

(2) Axillary bud
(3) Leaf

(4)  Shoot apex

The amount of nutrients, such as carbon, nitrogen,
phosphorus and calcium present in the soil at any
given time, is referred as ;

(1)  Climax community
(2)  Standing state

(3)  Standing crop

(4)  Climax

The factor that leads to Founder effect in a
population is

(1)  Geneticrecombination
(2) Mutation
(3)  Geneticdrift
(4)  Natural selection
Match List - I with List - I1.
List -1 List - II

(a) | Protoplast fusion (1) |Totipotency

(b) |Plant tissue culture | (ii) [Pomato

(c) |Merigtem culfure (111) [ Somaclones

(d) [Micropropagation (v) | Virus free plants

Choose the correct answer from the options given
below.

@ () (© @
@ @ @ v @
@ @ @ O @
@ @) ) @ @
4 @) @ @ 6

Which of the following ig a correct sequence of
steps in a PCR (Polymerase Chain Reaction) ?

D

Denaturation, Extension, Annealing

(2)  Extension, Denaturation, Annealing
(3)  Annealing, Denaturation, Extension
(4)  Denaturation, Annealing, Extension

collegedunia:s

India’s largest Student Review Platform

sh

T



Hindi+English

113. Heit- I 0 gt - 11 % T gHfad S |

114.

115.

116.

117.

Tl 1 - I

(2) [t 0 gmﬂﬁw

(b) |sTEsH (ii) I %ﬁ ﬁﬁ

© [I% = (iii) |59 a5 § 5 B

B

@ [P |G ﬂ;ﬁ

e 53 T famedl § 9 w8 SR T
(@ (b)) © @

L v @ @ @
2 @ © ) @
@ @ ® G @)
@ @ e @O @
Tl Yo fore U S €2
v
(2 "X
3 = A SR Al
@ I
T Ga § 99T i GAE 3 o fAU s 91 ey
AT SYERT H A ST & ?
(D TULTY
2 2 4.3
3 SEAT
(4 ST

TTERTST ST, Wit 3 o sreiee wiE §
itaet 39T 1 faem & 97 T srasifia wear § 2

() SLEg

@ f&=m

(3)  UITHRES
4 SRUAY,

I 4 CO, Frerlian ¥ vaen ol g e ?

1) IR 37
(2) HHIE oT
(3)  FIERFEEE T
@)  TTEETR T
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Match List - I with List -I1.
List -1 List -1I
) .. |More attraction in
Coh
(g} -cheston @ liquid phase
Mutual atiraction
{(b) |Adhesion (11) [among water
molecules
(c) |Surface tension |(111) Water:lossiti liguid
phase
G [ Guitkdiion (iv) Attraction towards
polar surfaces

Choose the correct answer from the options given
below.

@ ((b) (@ (@
1 ) a @
@ @ @O @) o
@ W @O a Q@
¢ @ @ @© @
Diadelphous stamens are found in :
(1)  Citrus
(2) Pea
(3)  China rose and citrus
(4)  Chinarose

The plant hormone used to destroy weeds in a field
18 :

(1) NAA
@ 24D
() IBA
@ TAA

During the purification process for recombinant
DNA technology, addition of chilled ethanol
precipitates out ;

() DNA

(2)  Histones

(3)  Polysaccharides
4 RNA

The first stable product of CO, fixation in sorghum
18 :

(1)  Oxaloacetic acid

(2)  Succinic acid

(3)  Phosphoglyceric acid
(4)  Pyruvicacid

T
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118.

119.

120,

121.

122,

123.

124.

et - 1 1 et - 11 % 1y gafad sifsw )
et - 1 et - 10

(a) |ATAY G) |=rTeE

(b) [k SHfazm Gi) |gafa fagmor

(0 |fgdiaes Tvge (i11) [T 6 snEE-YEA

G EED (iv) |SRIFT-3TEaT

T T3 T Taeedl # 9 wE S gia |
@ (b)) ©

(1 @ @ a @

2 @ @ @ @

3 v @ @ @

@ av @© () @

frtafaa § & =9 @ Ry Swafame &2

(1  FwQ

Q) TR wferaTHE

(8) HEHG Gl

@)  FBRETHT

frefaftaa § 9 wdeEh fawsm =t fra sEwer §

LB EIEEACIACK SE kG Ik

(1) HoEEE - 11

@)  TeEEE - 11

(3) e - 11

@)  HEEE - ]

SRl G PPHRI F1 SaURA, TS & A SR

F, 3R F, w4l = fefafeas 4 4 few o= g1
T S T 8 ?

(1) Y=g

2 THE

(8) A<

@ TR

EUIRED LR DRS G

(1) <ReSFged

@) T FEEssE d

@) T e g

(4) WHEH

TRuga srERar § TF YrEW Sgaetsi YUy
ffafer d a9 s waae?

(1) 7S IR 8-HEE

Q)  T-FEHE AR 7w

(3) 8- IR 8 HIE

@)  8-FEHE AR 7w

ehia § iaursidra gfaensf & wesR, gfaerst F9

oTel STTaEl A ST Sesifer & fau smE @ fafa =
Torerma faem B ?

(1 Tt fE
Q)  FRIHI

(3) YW

(4 oA fausm

30

118.

119.

120.

121.

122,

123.

124.

Hindi+English

Match List - I with List - I1,

List -1 List - 11
(a) [Lenticels (1) |Phellogen
(b) |Cork cambium |{i1) |Suberin deposition
(¢) |Secondary cortex |(1i1) |Exchange of gases
(d) |Cork (1v) |Phelloderm

Choose the correct answer from the options given
below.

@ ((b) (@ (@
H @ @© @
@ @ @ @@ o
@ @ @ @O @
@ W @0 ay W
Which of the following plants is monoecious ?
() Chara
(2)  Marchantia polymorpha
3)  Cyeascircinalis
(4) Carica papaya

Which of the following stages of meiosis involves
division of centromere ?

(1) MetaphaseIl
(2)  Anaphagell
(3) Telophase Il
(4)  Metaphasel

The production of gametes by the parents,
formation of zygotes, the I} and F, plants, can be
understood from a diagram called :

(1)  Punchsquare

(2)  Punnett square

(3)  Netsquare

(4)  Bullet square
Gemmae are presentin:
(1)  Pteridophytes

(2) Some Gymnosperms
(3)  Some Liverworts

(1)  Mosses

A typical angiosperm embryo sac at maturity is

(1)  T-nucleate and 8-celled
(2) T-nucleate and 7-celled
(3)  8-nucleate and 8-celled
(4) 8-nucleate and 7-celled

Inspite of interspecific competition in nature,
which mechanism the competing species might
have evolved for their survival ?

(1) Competitive release
(2)  Mutualism

(3)  Predation

(4)  Resource partitioning
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125.

126.

127.

128.

129,

et - 1% gt - 1§ gafad S

el - 1 et - 11
@ fred 0 ff».“'ﬁ”“‘“”*
. . |TiTestt S H fewm-
(b) |aae=wias | Gi) RN
(© [TorEfag (iii) [<F=nioren # saefera
BN GEEE: R GE ke
) |fawet (W)aq?frf N
T e T Taepedi § 9w SW gita |
@ m ©
1 @ @ @ @
@ G v @O @
3) @ @ v @
@ (v @ @ @
FrfefEd 8 9 S 91 59T 98 T8 8 7
1) % T SR #1 iRfTe SR 9 e
2l
@ i &1 TRiTe weg e 2§
@ TS U g uie= § den w fifhe
A
(4) HUE H SHaWR %1 FRAE Qe 36t g

I
el UREATRS, TR & AR et % 0e |

feorm 21 & 99 9 0 FEA § 7
1)  idEw

@ SR

3 IWiEgH

@) TR

S W W@, e smmre 9 affaa g
W o o .49 fafew & sraig SEn e § 9w
3 Y e €2

(1) =& T 9iEEi
@ e o g

(3) =S el ufgi
(4 il gtz

SIS 9siifaa & f6g v frefua faer =
qHAT e ?

() SfdA(+);SIRAB (+)
(2) TIMA(—); B (-)
(3) SUAA (+); B (0)
(4 SUTA(—) ;ST B (0)

31
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Match List - I with List - I1.
List - I List - II
() |Cristae @ Primary constriction in
chromosome
(b) | Thylakoids (i) Dlsc-‘shaped gacs in
(Golgi apparatus
... |[Infoldings in
(¢) |Centromere | (iii) mitochondria
Flattened membranous
(d) | Cisternae (iv) |sacs in stroma of
plastids

Choose the correct answer from the options given
below,

(@ () © )
@“ o @ @ W
@ @ e © o
@ @ @) ) @
@ ) @ W O

Which of the following statements is not correct ?

D

Pyramid of biomass in sea is generally

upright.

(2)  Pyramid of energy is always upright.

(3) Pyramid of numbers in a grassland
ecosystem 1s upright.

(4) Pyramid of biomass in sea is generally

inverted.

When the centromere is situated in the middle of
two equal arms of chromosomes, the chromosome
is referred as:

(1)  Telocentric

(2)  Sub-metacentric
(3)  Acrocentric

(4) Metacentric

DNA strands on a gel stained with ethidium
bromide when viewed under UV radiation, appear
as :

(1)  Brightorange bands
(2) Dark red bands

(3)  Bright blue bands
4)  Yellow bands

Amensalism can be represented as :

(1) Species A (+);SpeciesB (+)
(2) Species A (—);Species B (—)
(3) Species A (+) ; Species B (0)
(4) Species A (—) ; Species B (0)
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130,

131.

132,

133.

134.

TieRe 3 YogeR § wrey fafie veli o e o ¥
71 fafu=1 weae =1 gl & i & fau &t
AT 1 T T 21 TH &AN HI T F@
AT e ?
1) T
2 YIS
(3) Ui
(4) T
YHF GPP — R=NPP ¥ R ford frefoa s 82
(1) HETHEH
(2)  TITERT HEH
(3) YEEA @
(9 Tafexw i
Tl - 1R - 11 % W GAferd sifs ;
it - 1 it - 11
@) mﬁﬁ ﬁiwﬁ . | © [
T 3% foad |t
(b) [ =T 3R i) |fav=aa®
%4 I 2fe QA §
fafy— g&r st NP FNPAS
© EAIRE R e IR TSED o
stfyes Oidt fufa wd
(@) |g Tew aell ga | Gv) |9 I
CAIREAR
= T3 T fomeni ° & i sw gfm)
@ b © @
L v ) @ Q@
2 @O @ @) @)
8 G @ @ Q)
@ @ v @ Q@)
o fagra (Fget ) = qof vae fom &
@ (dna 2 nrna 9, @
() (o) TR, (:)—‘srﬁr%?ﬁrw;
(c)-3TTETET; (d)-IrERH
@) (2)-FITHTRIT; (b)-STE;
(c)-FURT; (d)-TEH
3)  ()-IREHAT; (b)-FHr;
(c)- T fenaeT; (d)- TR
@  (a)-iTHRIRR; (b)-STRIE;
(c)-UTRERHYT; (d)-9EF
fr=fafen 4§ =9 o, @@ R (dfams sEen
sfaferan) 1 T Sy T 8 2
(1)  SF y=EEA
@) 9uE 5 T OEE = IS
(8) S eI =1 IaT ST
@ i fem
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Plants follow different pathways in response to
environment or phases of life to form different
kinds of structures. This ability is called :

(1)  Flexibility
(2)  Plasticity
(3) Matunty
(4)  Elasticity

In the equation GPP — R=NPP
R represents :

(1) Retardation factor

(2)  Environment factor

)
@)

Match List - I with List - I1,

List -1
Cells with active cell
division capacity
Tissue having all cells
similar m structure
and function
Tiggue having
different tvpes of cells
Dead cells with highly
thickened walls and
narrow lumen

Respiration losses
Radiant energy

List -1I
Vascular
f1gsues

(a) ()

Meristematic
tissue

(b) (1)

(c) (i1) |Sclereids

(d) (iv)

Simple tissue

Select the correct answer from the options given
below.

(@ (b @ (@
O G @@ @ @
@ @© @ @) @)
@ @ @ M @
@ @ @ @O db

Complete the flow chart on central dogma.

@ (dna P, nrna 9, @

(1)  (a)-Translation; (b)-Replication;
(c)-Transcription; (d)-Transduction

(2) (a)-Replication; (b)-Transcription;
(c)-Translation; (d)-Protein

(3) (a)-Transduction; (b)-Translation;
(c)-Replication; (d)-Protein

(4)  (a)-Replication; (b)-Transcription;

(¢)-Transduction; (d)-Protein

Which of the following is not an application of PCR
(Polymerase Chain Reaction) ?

(1)  Gene amplification

(2)  Purification of isolated protein
(3)  Detection of gene mutation

4)  Molecular diagnosis
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135.

136.

137,

138.

139.

T UIRY o WRTERN | WRERYT o, T 41 9eY &
ST W TR 3 0 i |1 viee e g1 €

Tored wrm 3 SR afdeRnT W STEE w9 H e
YR & TR A S E 2

1) SIS 9EEToy

(2) SIS eI

(8)  STTHed Tl

@) YA

ITUTT - B ( SHafe@ : Seafafas )
THAEHEH Sial H SATeET H R § AR,
it eTa- [11 =T iR 3 2

(1) %RNA, 55 rRNA 3 snRNA i STRIRE ol

2 mRNA ¥ Qe =i S % g

3) %I enRNAs 1 TG @l §

(4)  rRNA (288, 188 3 5.8S) &I T Ea Tl
2

Freforfea § 9 S S TAad & 7

1)  ifew - wifael 3 %eer PS 1 2 E I NADP
fizeRst & 3199 2l 2|

(@) TR AT | PS I 3R PS 1 SF1 8 §1

(3)  TEhIE YRS BRI ° PS I 3R PSII M
yntae g |

(4 ATP3RNADPH + H + ZFi =l TR Th9 T
TR & SR S0l 2T 2 1

Freferfaa A € for el o 30 9 7% 9 wel §
Tl 87

() e, S
2  UOHl, e
(® T, g
@ O, T
et - I 0 e - 11 & W1 gofad SIS |
Tl - I il - 11
(a) (W D |c=C feary
(b) |THTD o1 37 | (1) [FEBISEIRL 59
(c) |Fpoeit® 3191 | (i) |[TeTrsehies e oy
(d) |dieEmTEs (iv) [TeEe w7y
T fed T fawedi # 4 wE W g
(@ () @ @@
O @O Gy @ @
2 @ © G @)
@ @ G @ )
@ G @O @ i)
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The term used for transfer of pollen grains from
anthers of one plant to stigma of a different plant
which, during pollination, brings genetically
different types of pollen grains to stigma, is ;

(1)  Geitonogamy
(2) Chasmogamy
(3)  Cleistogamy
(4)  Xenogamy

Section - B (Biology : Botany)

What is the role of RNA polymerase III in the
process of transcription in eukaryotes ?

(1)  Transcribes tRNA, bs rRNA and snENA
(2)  Transcribes precursor of mRNA

(3)  Transcribes only snRNAs

(4)  Transcribes rRINAs (288, 185 and 5.85)

Which of the following statements is incorrect ?

D

Stroma lamellae have PS I only and lack
NADP reductasze.

(2)  Granalamellae have both PSTand PSIL.

(3)  Cyclic photophosphorylation involves both
PSTIand PSII.

40 Both ATP and NADPH+H* are
synthesized during non-cvelic
photophosphorylation.

In some members of which of the following pairs
of families, pollen grains retain their viability for
months after release ?

(1)
2)
3)
(4)

Match List - I with List - IT,

List -1
Protein
Unsaturated
fatty acid
Nucleie acid
Polysaccharide

Poaceae ; Leguminosae
Poaceae ; Solanaceae
Rosaceae ; Leguminosae
Poaceae ; Rosaceae

List - 11
C=C double bonds

Phosphodiester bonds

(c) (1i1) | Glycosidic bonds
d) (iv) | Peptide bonds
Choose the correct answer from the options given
below.

(a)
(b

(1)
(ii)

(@ () () @
O @® @ @ @
@ @ @O Gv) )
@ G @) O
@ @ O @
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140. YW - I F WY - I1 ¥ gufaa i 140, Match Column - I with Column - IT,
w=Ha-1 T - 11 Column -1 Column - 1T
D o s B i &
(b) | Rhizobium (ii) : i
) i) sHifar ®1 AR | EiIﬂIﬂD]‘ll?l to l’llt?ltia
afErd (©)| Thiobaciltus |G| “ORYersion of nitrite
(¢) foraradiorg | .7 i HEEE " Conversion of
Ik !Ei J — - (d) | Nitrobacter |(v)|atmospheric nitrogen
@ | i) ﬂ!lgHé(ﬂl*‘-:l B IEFEEIET] o amionia
AT H A Choose the correct answer from options given
= fear T faeredl ¥ 9 9 SW g below.
@ @b © @@ (@ (©) (© @@
b O @ Q@) av) JH @O @ @) av
2 @ @ @) @ @ @ @ @ W
@ v @ @ O @ @ @ @ @
@ @ o @O o ¢ W o @O @
141. ffafaa d S FR TR T 7 141. Which of the following statements is correct ?
(1)  3To I WS = TTHH o6 si1= ST (1)  Fusion of protoplasms between two motile
TeTa Fl I T 19 gl S § | on non-motile gametesis called plasmogamy.
@) i S Sifa Jredl w iR g € 3 garasiet (2)  Organisms that depend on living plants are
gl a2 called saprophytes.
@) TS A ALHSAE E2IS o STESTE i HT (3)  Some of the organisms can fix atmospheric
a7 el Tafers wifermet o frafia a2 nitrogen in specialized cells called sheath
T ¥ cells.
@) o RREEl ¥ GoeE w1 Ew ded w6 (4)  Fusion of two cells is called Karyogamy.
T R | 142, Match Column -1 with Column - 11,
142. Y - I =0 w9 - 11 § gafea FifSa| Column -1 Column - 1I
Wy -1 Wy -1I1 (a) %(5 K Crise@Agi1G, (@) Brassicaceae
(8) %G K,C G, @ S .
K(Er} 1 +2+{27A(9J +1-1 ®) o @K@C{mﬂﬁg () Liliaceae
® 68K 5 CryAsG, G  ferfere JE
s (c) a&gs Pa,gfs, 39{3) (ii1) Fabaceae
() $§P(3 +9s420 i) et
(d) eCK,, .C,A, G (iv) Solanaceae
@ o §5K2+204A2_4Q(2) P ot (5 2+2% 403 — 4 M(2) iv
. Select the correct answer from the options given
= fedr T faeredi ¥ 9 9 SW g below,
(@ ((b) © @@ @ ® @© (@
O 6O 6@ G G QO @ @) G
2 @ 4w av 0 @ G G v @
B & @ 9 w @ G @ O i)
@ W W o v @ G @ @6
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143.

144,

145.

146,

frfafien § 9 W& 79 = AT

(V) T ufeai | . At Faw
HAgT HUSE,

ot fufe areht 52

FISTERT |

o 2 ¥

SHfoTm ae@ % Y = EaCpe
o e &

R o1 WIS alell - TSIl gga
NP HEINEIRES]

BT H o9 & HAFR

1 fog o) §

T =<1 U g

IS

LT, e | SLULT A B Ee fafre

AT H f=rarel &1 vgEe & 9rdl 31 = fafktre
T ] T R Sl § 2

2)

(3)

@

(D TREMITET

@) T fRERES

3 TEIEEET

@ el Sy,

el s T s A e ?

1) TELEL(zeweiT uftaga gwen) #,
NADH+H* & T& 10 | WA & g 7
T4 § 3R UF FADH, 9 TH ATP 319 571 € |

@ T 1 Hyew 9figg V % g e B

(3)  SUTI=E TR, Yore § WA YavTdl Sea=
ExGiR

@) O YEA % R, St e st
ST Ok Wi T

=TS pBR322 T S ampl F 375X Pstl Iiqasm
T=ER S uefifaet Wiy guiar @1 afe 5@
TSTEH & Hiel-TeREREs e & fae, U S %
fou frafea fe s ® iR e wifsae =t

z. e w2 H Frafira e s 2 o

()  EYad SifseRed B TREei Yiaiie ol a7
T SR W & Sa-TeeREe SeE Sl

@  3T9H I wifdEs W @99 8 S

3 ﬁ?ﬁw%’wﬁmwﬁw

(4) ?mwmaawmﬁqmmﬁw
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Select the correct pair.

(1)  Indicotleaves, vascular - Conjunctive
bundles are surrounded  tigsue
by large thick-walled
cells

(2) Cells of medullary rays - Interfascicular
that form part of cambium
cambial ring

(3) Loose parenchymacells - Spongy
rupturing the epidermis parenchyma
and forming a lens-
shaped opening in bark

(4)  Large colorlessempty - Subsidiary cellg
cells in the epidermis
of grass leaves

DNA fingerprinting involves identifying differences
in some gpecific regions in DNA sequence, called
as :

() Repetitive DNA
(2)  Single nucleotides
(3)  Polymorphic DNA
(4)  Satellite DNA

Which of the following statements is incorrect ?

(1) In ETC (Electron Transport Chain), one
molecule of NADH+HT gives rise to

2 ATP molecules, and one FADH, gives rise

to 3 ATP molecules.

(2)  ATP is synthesized through complex V.

(3) Oxidation-reduction reactions produce
proton gradient in respiration.

(4)  During aerobic respiration, role of oxygen is

limited to the terminal stage.

Plasmid pBR322 has Pstl restriction enzyme site
within gene amp® that confers ampicillin
resistance. If this enzyme is used for inserting a
gene for B-galactoside production and the
recombinant plasmid is inserted in an F.coli strain

(1)  the transformed cells will have the ability
to resist ampicillin as well as produce

B-galactoside.

(2) it will lead to lysis of host cell.

(3) it will be able to produce a novel protein with
dual ability.

4) it will not be able to confer ampicillin

resistance to the host cell.
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148,

149,

147. fr=tafeaa o O @ weF g
(1) SiEmwET # ST Fi Wil & JATY HH
¥ foIu ST, Yifems], Rho 1 & @Y
givem 2 S B
2) T STRE 39K H e o, T mRNA R
gfdpa ST e |
(3) ?ﬂaﬂﬁﬁﬂ—mﬁwﬁ%ﬁmﬁmﬁﬁw&rw
|
(@) HUT O Ofye TaFEE EHERE ® hnRNA
% 3/ T 9§ Sirer 9w &
el - I gt - 11 % w9 gAfem wifsa )
et - 1 et - 11
(2) [S S7r%en @) [T = Hyerwor B
(b) |Gz 3TarEen (i) [Hftsra s
Al faHeH 3R
() v s/eeer | (i) [T yiasfae &
YR B & 9 3TA
(d) [G1 sTaeT (v)|E1.TA.T, 1 HicTehiaqehtur
T T3 T Taeedl | 9 wE S g |
@ » @© @
O Gv G G @)
@ G @O @ G
@ @ Gv) @) @
@ G @ @ @
ST Gl THIH
N,=N_e"t H, e T Tofog FRaT € 2
(1) I ST T SATHR
(2)  WTEHfden TTEATIR 3 STER
(3)  SHANHfd TR Rl STHR
(4) TET TPTE T TR

150.

SITERTET o T S0 F | Jdeared uid | 39 SLUA.G.

T WL L IR Ih a8 2N SARTH TIHT F

THH! U89 L HER S0 H 9l SuiEiad SsiE
T T AT TSRS W9l & ST .

(1)

2)

3)

4)

Seafiatdda st weRmfwes fhed w gof 3ik v
w9 H A B

IARaEfdd < hemiths hed T T8 STl
Hifeh Tl o SR 1§ T 61 & |

Iqfafda <9 wEmiEs fFeq 9T 98 =1
TR Yra | THH1 I B |

IREd S BRI Tthed W 3T ®9
T et &

36

147,

148.

149.

150,
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Identify the correct statement.

1)

)
(3)
(4)

ENA polymerase binds with Rho factor to
terminate the process of transcription in
bacteria.

The coding strand 1n a transcription unit is
copied to an mENA.

Split gene arrangement is characteristic of
prokaryotes,

In capping, methyl guanosine triphosphate
is added to the 3’ end of hnRNA.

Match List - T with List - IT.

List -1 List - 11
.. |Proteins are
(2)|S phase ® synthesized
(b) | G2 phase (11) | Inactive phase
Interval between
(c) |Quiescent stage |(iil) |mitosis and initiation
of DINA replication
(d) |G1 phase (iv) | DNA replication
Choose the correct answer from the options given
below.
(@ (b)) () ()
1 @ @ @) @
@ @ @ @ @
@ @ @ @ @
@4 @ @ @ G

In the exponential growth equation

- rt ;
N;=N_e™, e represents :

D
2)
(3)
)

The bage of exponential logarithms
The base of natural logarithms
The base of geometric logarithms
The base of number logarithms

Now a days it is possible to detect the mutated
gene causing cancer by allowing radioactive probe
to hybridise its complimentary DNA in a clone of

cells,

followed by its detection using

autoradiography because :

1)
)

3)

4)

mutated gene completely and clearly
appears on a photographic film.

mutated gene does not appear on a
photographic film as the probe has no
complimentarity with it.
mutated gene does not appear on
photographic film as the probe has
complimentarity with it.

mutated gene partially appears on a
photographic film.
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AT - A ( Hafesr : wifufeser) Section - A (Biology : Zoology)
. . . 151. Which f the following bel he famil
151, ﬁ":[ffa'ﬁ:[HIt-ﬁhél @ﬂﬁaﬂﬂl%? Muszid::??o e
1 feg (1)  Grasshopper
2 oo (2)  Cockroach
@ Tl (3) Housefly
@ ST 4)  Firefly
152, Heit - I ' Geit - IT & 919 i s | 152, Match List - I with List - II.
T -1 T -0 List - I List - II
: . |Entry of sperm through
(a) [sifee ) mﬁ%ﬁ%gﬂ F @ Fanlis @ | Cervix is blocked
o) - Hﬁ’ﬁ @) S — (b) [TUDs (11) E}E:mmvaltnf ‘Vasf deferens
1 - agoevtosig of sperms
(c) sz (iii) TR H YA (e} | Yasectomy ) within the Uterus
fq PS— (d) | Tubectomy |(1v) |Removal of fallopian tube
(@ [Aferen 3=5a | (iv) Ferarae
gl Choose the correct answer from the options given
: " helow.
=1 Toeredi 9@ | ST &1 9949 &1 | @ m © @
@ M) © O @ G G
) @ @ @ @ @ G G 6
@ @ @ @ 0 @ @ O @ @
@ @ 6w o @ & @ O

@ @ W @ @)
153. The organelles that are included in the

153, ¥ia: frfeersh 9 o =iF § wHif¥resiT WitAie o § ? endomembrane system are :
(1) Sagsdl Shiersh], Tiesl 9iHY, THE U6 (1) Endoplasmic reticulum, Golgi complex,
T Lysosomes and Vacuoles
@) oSt GfFY, YRR, IBHGH T TaTamd 2 E;ii, t;c;ipslex, Mitochondria, Ribosomes and
®) oSt S, s w (3) Golgi complex, Endoplasmic reticulum,
NEREIR] Mitochondra and Lysosomes
(@) ST S, H\Tm"ﬁ’l?ﬂ, TEAEH T TEHA 4  Endoplasmic reticulum, Mitochondria,
Ribosomes and Lysosomes
154. SRemRTeT gt s s Hi. & Tt w6t 3 s
% TUH! IR A FA1 6 ? 154. Ervthropoietin hormone which stimulates R.B.C.
O SR ER R AR T ke T e formation is produced by :
@) A% ool &1 IR (1)  The cells of rostral adenohypophysis
3) eFF T TS Eﬁﬁ]‘ﬂﬁl‘&' (2) The cells of bone marrow
) ST ﬂ—w (3) Juxtaglomerular cells of the kidney

(4)  Alpha cells of pancreas

155. 3TYFera 70 =l TETC |

155. Identify the incorrect pair.

W ) s (1) Toxin - Abrin

@ i A (2)  Lectins - Concanavalin A
3 F ] * [ (3) Drugs - Ricin

(4 TekdEE™ - HIEH 4) Alkaloids -  Codeine
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156. T PR g =@ aa & ? 156. Veneral diseases can spread through :
(@  IATURTE HEA o I9A | (a)  Using sterile needles
() Herid =fea F & wem U ()  Transfusion of blood from infected person
© HHHa I E ot g= i (¢  Infected mother to foetus
@ =AY d Kissing
(€)  SINTRI q (e) Inheritance
= foreredl @ wa S FT A FU | Choose the correct answer from the options given
V) (b), (@ T (@) Below
@) e ®) w ©) (1) (b), (c) and (d) only
3) e (@) w © (2) (b) and (c) only
@  F (@), 0 © S fmendlcjeny
. ‘ o . 4) (a), (b)and (c) only
157. SHH % HeH § S foaeney =1 = | 157. With regard to insulin choose correct options.
(@) ORTEE S H-UwEe T 2 ()  C-peptide is not presentin mature insulin.
b IR @ T dEiE # I fgeie o ®  The insulin produced by rDNA technology
H-UeRe T B | has C-peptide.
COT 1 -5 e B b R 21 (¢  The pro-insulin has C-peptide.
(d) s?Fﬁq % Q—a"-?flﬁ 'Q'a' ﬁ_‘a—qﬁ%@ ERUCEHRS (d) A-peptide and B-peptide of insulin are
e} 2R I o A E interconnected by disulphide bridges.
3t firm T et 3§ _ﬂf:.'zlﬁ TR I | Choose the correct answer from the options given
below.
(1) e (b) T © 4y ) und (yonly
@ O (a), @@ @ (2, ()and () only
(3) oA () T (d) 3  (a)and(d)only
@  E (b) T (d) @)  (byand (d) only
158. fﬁﬁiﬁﬁ ( ForeRor w2re) :Ef S IERIEE] (Oy) T W 1568. The partial pressures (in mm Hg) of oxygen (O,)
g‘a’ﬁmﬁg (CO,) 1 I A (mm Hg o) BT and carbon dioxide (CO,) at alveoli (the site of
. diffusion) are :
1) pOy,=40TpCO,=45 (1)  p0,=40and pCO,=45
@)  p0y=95TWpCO,=40 @  p0,=95and pCO, =40
3) pOy,=159TEpCO,=0.3 @ pO0y,=159and pCO,=0.3
@ pO,=104TWpCO,=40 @) pO,=104and pCO,=40
159. o - I I gl - 11 % w12t fiem =40 | 159. Match List - I with List - II.
T - 1 T - 11 List - I List - II
(a) T TR ) e e (a) |Aspergilius niger (1) |Acetic Acid
® @ (b) |Acetobacter aceti (i1) |Lactic Acid
QeI Qe |l AR & | Gnartam biriheas. |G| et Aes
©) | Fergifeam sgeraforsa | (fafes 37 ()| Lactobacillus (iv) |Butyric Acid
(D | slaarelfgorg (v) @ﬁﬁfﬁ 3T+A Choose the correct answer from the options given
" below,
11 faredl | Sfaa 3T =9 4 ¢
(@ (b)) (@ (@
(a) (b) () @@ , . o
O O @ G o 8B o
® G @) O @ L
® & @ O @ oo b ok
@ @@ @ G @ ¢ @ @ @) @

T
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160, ¥l - I =l Tl — 11 % w1 firedm =30 |
el - 1 el - 10
(a) |[faE=Ew () [He=E
(b) [Fre-<= 1) [SAEN
(c) |hoket Tfgeht (iii) |TfereT
(d) [S91 wiferet (iv) [TrRY
7= fommedi | o Sfaa s =28 =0 |
@ b)) © @@
(L @ @ @ @
2 @ @ @ @
@ o O @ @)
@ v W @ @
161, F9FE I i Hed § .
(L AEAEH
@2 TRWEH
(3 HEAY
@) SFFERE R
162. FHiuwen ¥ feEmrefat s & fau sqga
TRfEAfaE 1 =9od F |
1 =0, =pCO,, IF H*, sTaTFd A
AT
@ S p0,, T pCO,, A H*, s1%Fd 3=a
AT
@  FFEp0,, T pCo,, stftm H +, sTarsa 3=
AT
@ = p0,, M pCOo,, 71 H+, smansa +4
AT
163. & 91 UsiEA iRy wEieqem & wEEe o sgom
& T STerE 32
O
@ RS
(3) UrEERES
(4 aifEm
164, T 8 31 SHE & SEATBTE RS 51 S 8 & ?
O AT glaRiea § GER
@  faefa = umn o guR &
@ G-l wd @i e H GER S
@) I3 A YEUR HwA
165, TGl § gy s % wr e suitem 2 §2

() diw TEe

(2)  OiRdIdE T
3) S SogfE
@)  FRE ISR

39

160,

161.

162.

163.

164,

165.

N3
Match List - I with List - IT.
List -1 List - II
(a) |Metamerism i) |Coelenterata
(b) |Canal system (i) |Ctenophora
(c) [Comb plates (i) |Annelida
(d) |Cnidoblasts (iv) |Porifera

Choose the correct answer from the options given
below,

@ (k) @©
B a v @ W
@ @ @ @
@ @ @ @
¢ @ @ @ @
Succus entericus i referred to as :
(1)  Intestinal juice
(2) Gastric juice
(3) Chyme
(4)  Pancreaticjuice

Select the favourable conditions required for the
formation of oxyhaemoglobin at the alveoli.

(1) Low pO,, high pCO,, more HT, higher
temperature

(2)  High pO,, high pCO,, less H*, higher
temperature

3) Low pO,, low pCO,, more HT, higher
temperature

(4) High pO,, low pCO,, less Ht, lower
temperature

Which enzyme is responsible for the conversion of
inactive fibrinogens to fibrins ?

()" Renin

(2)  Epinephrine

(3)  Thrombokinase
(4)  Thrombin

Which of the following is not an objective of
Biofortification in crops ?

(1) Improve resistance to diseases

(2) Improve vitamin content

(3)  Improve micronutrient and mineral content
(4)  Improve protein content

Receptors for sperm binding in mammals are
presenton:

(1)  Vitelline membrane
(2)  Perivitelline space
(3) Zonapelluada

(4)  Coronaradiata

sh
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166.

167.

168,

169.

170.

171,

172,

173.

TEHEE! I T HIVEHT H 8 IPEA (2n) B 2
I Tl FasTeI =t Siaquaen &t Gy e § o
%I WA 8 § TF S—JToRAT 3 A U ol W& F:1
2nft 7
1 16
@ 4
8 82
4 8

S Yafereen w1 ®H H e w faie qyw
FHEUSHT T ST & 2

1) TH9E

(2) UIfasma

(3) TR

4 a9

‘AB’ T UYE % iR w1 ad U w w8 2
(1) I H Yids A TS B i T LU
(2) RBC ¥ UF-A UF U-B Ui i 3ufegfa
HE

AT H U-A Td UH-B gfoeaft =1 srafeerfa
& FH

RBC & 9a8 R UTdsH A U6 B &1 sr{uieefa
B H

Sl ereRiftAT el Sufeer B § 2

(1) a5 TR anfet wd Teol |y

(2)  STS-UTEE iy

3) IR TE TR Wiy

(1) TawEg™

=1 &% HIF SHM JraeE 7% 2 H S| 7 2

() LNG 20

2) Cu?

(3) HEIES 375

(4) CuT

7ie Uk € W T A9 H URAH H AW 30% ¥ e
ATIHIA, TR Te WEerEH faRe wike 2 ?

() T:20;G;20;C:30

2 T:30;G:20;C:20

(3 T:20:G:25:C:25

@ T:20;G:30;C:20

frer H Torw <fta § et a1l @raelt vd =ifae
gt §72

(1) EHewrTe

Q) e

(3)

4 e

SRl i STIeTE Tisha § ®F 91 USTeH TR,
e TR0 T U9 i SOfia Fear s ?

() BT TR MR R U O

@ SIS

3 ST

@) ST Wi E e

(3)
@)

40
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The fruit fly has 8 chromosomes (2n) in each cell,
During interphase of Mitosis if the number of
chromosomes at GG phase is 8, what would be the
number of chromosomes after S phase ?

QO 16
@ 4
@ 32
4 8

Which stage of meiotic prophase shows
terminalisation of chiasmata as its distinctive
feature ?

(1)  Zygotene
(2)  Diakinesis
(3)  Pachytene
(4)  Leptotene

Persons with ‘AB’ blood group are called as
“Universal recipients”. This is due to:

(1)  Absence of antigens A and B in plasma

(2)  Presence of antibodies, anti-A and anti-B,
on RBCs

(3)  Absence of antibodies, anti-A and anti-B, in
plasma

(4)  Absence of antigens A and B on the surface
of RBCs

Sphincter of oddi is present at ;

(1)  Junction of hepato-pancreatic duct and
duodenum

(2)  Gastro-oesophageal junction

(3)  Junction of jejunum and duodenum

(4)  Ileo-caecal junction

Which one of the following is an example of
Hormone releasing IUD ?

(1) LNG 20

@ Cuf?

(3)  Multiload 375
(4 CuT

If Adenine makes 30% of the DNA molecule, what
will be the percentage of Thymine, Guanine and

Cytosine in it ?

1 T:20;G:20;C; 30
@ T:30;G:20;C:20
3y P20 0255025
4 T:20;G:30;C; 20

Which one of the following organisms bears hollow
and pneumatic long bones ?

(1)  Hemidactylus

(2) Macropus

(3)  Ornithorhynchus
(4)  Neophron

Which is the “Only enzyme” that has “Capability”
to catalyse Initiation, Elongation and Termination
in the process of transcription in prokaryotes ?

() DNA dependent RNA polymerase
(2) DNA Ligase

(3) DNase

(4)  DNA dependent DNA polymerase
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174,

9 It 11 3 YA 9 S w1 siffEer & <m
gfe IRY H =9 ATYAM 7 A8 @A a9 e o

Tt Gt 3R 1 ST G =01 Uge WHIfe 207 ?

(1) TER

(2) fisrEEp

(B) IR

(4)

175. |t - I %l =it - 11 &y faem 10|

el - 1 el - 10

(a) | FrEGfeTET () |

(b) | Fergerd () [gdmret g |l

(c) | THamBeeemr () [Sitfaa <iterem

(& | rmerer (iv) |ty

=1 Toereul 9 SfeE SR FT TEA |
@ ((b) @@ @

L v © @ @

2 @ @ G @)

@ @® v @ @

@ @ @ @ @

176.

177.

178,

179,

T fafre wgam sww s deigfeas g
2 T U i Tafvrs feufq W e % Taw vg=mn s
8, F1 FHEA & ?

(1) AR STFRA

@ IR fRrsieRs sH
(3) HE (W) Y= IFA

) TP ST

SrefenTell Tavfaear e S dfsen Ui | = weafaa
A € e f99eh FR0 Sk U9 H FESR uE
YayaTd Bl 8, FHemdl §

QO e TN

(2)  HEwfEn iy

@ e

(4)  wfeeiy

faerae & dey 4w =t fafiread smfaa ¥2

(D Wg@wmmwmﬁéﬁ

l

(2) HRIH 7-9 TF 37T (et SHh %S 9
2l

3 TF e § gud wWe A R oW U 9w

(4)  HEAH U TS % G TE W ST A
I TF GAT B 2|

Pt ol 7 A ot S 9 v W e
Y gyl 2

Q) ¥ fesw IfmE B 2

© ?ﬁwﬁ%nmmmﬁgﬁ;ﬁmé\m
l

@) %Rl o afew w fafa | Suftea 3rf #

@ 37 9l o enfet = S

41
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179,

N3

During the process of gene amplification using
PCR, if very high temperature is not maintained
in the beginning, then which of the following steps
of PCR will be affected first ?

(1)  Extension
(2)  Denaturation
(3) Ligation
(4)  Annealing
Match the following :
List -1 List - I
(a) | Physalia (1) |Pearl oyster
(b) | Limulus (i) |Portuguese Man of War
(¢) |Ancylostoma | (iii) | Living fossil
(d) | Pinctada (iv) | Hookworm

Choose the correct answer from the options given
below.

(@ (b) () @)
O G @O @ @
@ @ @ @ O
@ @ @ @ @
¢ @ @ @O @)

A specific recognition sequence identified by

endonucleases to make cuts at specific positions
within the DNA1s:

(1) Okazakisequences

(2)  Palindromic Nucleotide sequences
(3)  Poly(A) tail sequences

(4)  Degenerate primer sequence

Chronic auto immune disorder affecting neuro
muscular junction leading to fatigue, weakening
and paralysis of skeletal muscle is called as :

(1)  Muscular dystrophy
(2) Myasthenia gravis
3  Gout

(4)  Arthritig

Which of the following characteristics isincorrect
with respect to cockroach ?

(1) Hypopharynx lies within the cavity enclosed
by the mouth parts.

(2) Infemales, 7th-9th sterna together form a
genital pouch.

(3)  10th abdominal segment in both sexes, bears
a pair of anal cerci.

4) A ring of gastric caeca is present at the

junction of midgut and hind gut.

Which of the following statements wrongly
represents the nature of smooth muscle ?

(1)  They are involuntary muscles

(2) Communication among the cells 1s
performed by intercalated discs

(3) These muscles are present in the wall of
blood vessels

(4)  These muscle have no striations
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180.

181.

182,

183.

184.

185.

42

= § UeA Ay & faT 19 9 RNA sTEsgF
LY,

1) tRNA
2 rRNA

3) sRNA
4 mRNA

SO 3RS fond il HITE 9194 o ToIW ST <h1 ST
g2

() IHAIHSA

2  3AEF

(3) svHeEd

() H TEHE

=1 o wr U=

(2) HISHaE HEE § T ST g

b) UEEISH FERE UE TER WY B ¥

(©  TersiHdl § HeH o1 T 3 9 S R |

@  TATER H Ul ehd UigE e H TeE
FLE B

@) T Herad w1 UsmreAed = Tafyrsear 3t 21

= Tared @ sfea s =1 999+

D (a), b)) T E

@ (@), ()W) T

@ ), E WL

@  (¢), (d) T (e) TR 1

RS T 3 WY SYER & T 39 SIR9e e
e - firen T =61 g aga el 8| e A
F °1 AfvEe frem aees sRibes vg=m & fow

aIga ITArtt &2

(1) g oA Tt

(2) ELISA U&&

(3)  HEHW TFAR

@ S =T g

T R R A1 SF1 S Hifses! SR & SF & fog
T asi § o Hertor § 3= watd o fehaen afaera
TgF R 2

(1) T5%

@  25%

@) 100%

@ 50%

TR hdl 15701 Bral © 7

(1) gEEEE

@)  HEEE

@) G,

@)  S-veErR

180,

181.

182,

183.
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Which of the following RNAs is not required for
the synthesis of protein ?

(1) tRNA

(2) rRNA

(3) s=siRNA

(499 mRNA

Dobson units are used to measure thickness of :
(1)  Stratosphere

(2)  Ozone

(3)  Troposphere

4  CFCs

Read the following statements.

(a) Metagenesisis ochserved in Helminths,

()  Echinoderms are triploblastic and coelomate
animals,

{c) Round worms have organ-system level of
body orgamzation.

({d) Comb plates present in ctenophores help in
digestion.

(e) Water vascular system is characteristic of
Echinoderms.

Choose the correct answer from the options given
below.

(1)  (a), (b) and (c) are correct
(2) (a), (d) and (e) are correct
3) (b), (c)and (e) are correct
) (), (d)and (e) are correct

For effective treatment of the disease, early
diagnosis and understanding its pathophysiology
is very important. Which of the following
molecular diagnostic techniques is very useful for
early detection ?

(1)  Southern Blotting Technique
(2) ELISA Technique

(3)  Hybridization Technique

(4)  Western Blotting Technique

In a cross between a male and female, both
heterozygous for sickle cell anaemia gene, what
percentage of the progeny will be diseased ?

() 75%
@)  25%
(3)  100%
@  50%

The centriole undergoes duplication during :

(1)  Prophase
(2) Metaphase
3)  Ggphase
(4)  S-phase
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186.

187.

188.

189,

190,

AU - B ( Siiaierse ; wriurferr )

o | 99e & RY & fag =1 F SR wee
3YeTa TE 22

(1)  UrErArEd 1

(2)  SAFEEEd = HEE

(@) Wt w1 0

@ TRSH T YR & 3TUE H IS

WAL TEHE AUG it wE wia-TentE
T FZ TG FA G |

FAAII: AAA TF AAGQ ST Tepe THAT 37RA

TG o1 e T a7l |
S FA F oMER R = Tl | w8 s
T |

() AT I Ve weA I Ted B

@) U7 I T E AR e 11 T ¥

(3) HAT1 o & AlE e I EE §

@ TAHRITIVE ®mITII T E

feadfteER s i FA T R TR &7

() T8=F =i pH = eveim gt &1

(2) @ﬁmwaﬁﬁﬂﬁﬁmw

|

@ =A== ol e § aads STeRl B B |

@) ?@ﬁm@mswﬁﬁ@mﬁm
l

FIfSrer At 61 gg=e ST uerel & Sash § 9
TFrerer & et € U STl ua el 3 gia TR
q TSl FITHIST % 7 WeRo] TIiad Sl §

(1) hH9: S8 9y Td STadel Ty

2)  hEE: ST HiY UE g8 iy

(3) UYL S WY UE el w6y

(4)  FHEI: A WY U S G

fefrs & dafua wem = faw a3

@ UH fafos fSH a0 a6y 2d € 5=
ST T 37 HEd € |

G  ERE wERfate §

© IEEESEE WA fewid 7

@ uifedfes I ° FE(fFae w1 9fgq
20 FTET F TRAW] B ¥

@ TWfweiT® s T 16 Fe T3 © |

= foeredi | Sfea S =1 =91 U

() %9 (c) W ()

@  %Ed (b) T ()

® A (b) T (e)

(4) e (2) T (b)
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188,

189,

190.

N3
Section - B (Biology : Zoology)

Which of these is not an important component of
initiation of parturition in humans ?

(1)  Synthesis of prostaglandins

(2)  Release of Oxytocin

(3)  Release of Prolactin

(4)  Increasein estrogen and progesterone ratio
Statement I :

The codon ‘AUG’ codes for methionine and
phenylalanine.

Statement I1 :

‘AAA and ‘AAG both codons code for the amino
acid lysine,

In the light of the above statements, choose the
correct answer from the options given below.

(1) Both Statement I and Statement II are
false

(2) Statement I is correct but Statement I1
is false

3) Statement I 1is incorrect but
Statement IT is true

(4) Both Statement I and Statement II are

true

Which one of the following statements about
Histones is wrong ?

(1) The pH of histones is glightly acidic.

(2) Histones are rich in amino acids - Lysine
and Arginine,

(3) Histones carry positive charge in the side
chain.

(4)  Histones are organized to form a unit of
8 molecules.

Identify the types of cell junctions that help to stop
the leakage of the substances across a tissue and
facilitation of communication with neighbouring
cells via rapid transfer of ions and molecules.

(1) Tight junctions and Gap junctions,
respectively.

(2)  Adhering junctions and Tight junctions,
respectively.

(3) Adhering junctions and Gap junctions,
respectively,

(4)  Gap junctions and Adhering junctions,
respectively.

Following are the statements with reference to

‘lipids’.

(a) Lipids having only single bonds are called
unsaturated fatty acids.

()  Lecithinis a phospholipid.

(¢)  Trihydroxy propane is glycerol.

(d)  Palmaitic acid has 20 carbon atoms including
carboxyl carbon,

(&)  Arachidonic acid has 16 carbon atoms,

Choose the correct answer from the options given
below.

(1) (¢} and (d) only
(2) (b) and (c) only
3)  (b)and (e)only
(4) (a) and (b) only
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191. TERITEA feudAe H F9 9 FN SIS ?
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The Adenosine deaminase deficiency results into ;
(1)  Parkinson’s disease

2)  Digestive disorder

(3) Addison’s disease

(49)  Dysfunction of Immune system

Match List - I with List - I1.
List - I List - II

Selection of resistant
varieties due to excessive
use of herbicides and
pesticides

Bones of forelimbs in Man
and Whale

Wings of Butterfly and
Bird

Adaptive
radiation

(a) 1)

Convergent
evolution

(b) (i)

Divergent
evolution
Evolution by
anthropo-
genic action

() (1)

(d) (iv) | Darwin Finches

Choose the correct answer from the options given
below.

(@ (b
D @ @ )
@ @ 0 o @
@ @O Gy @) G
@ @) G @ @
Match List - I with List - I1.
List - I List - IT
(a) [Filarinsis | @ ifu”;‘:jf”s
(b) [Amoebiasis | (i) |Trichophyton
(c) |[Pneumonia |(iil) | Wuchereria bancrofti
(d) [Ringworm  |(iv) |Entamoeba histolyiica

Choose the correct answer from the options given
below.

(@ (b)) ()
QO @) @ O @
@ @ @ Gv 3
@ @ ) @O @)
@ G @O @ G

Following are the statements about prostomium
of earthworm.

(a) It servesas a covering for mouth,

(b) It helpstoopen cracks in the soil into which
it can crawl.

(c) It is one of the sensory structures.

{d) Itisthe first body segment.

Choose the correct answer from the options given
below.

(1) (a), (b) and (d) are correct

(2) (a), (b), (c) and (d) are correct
(3) (b) and (c) are correct

(4) (a), (b) and (c) are correct

T
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SEEETE e
() (iv)
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3 (v @) @ @
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197. O - 11 Tl - 11 % & faem 6401

Tt - 1 = - 11

(a) |THYET (@) [Sute o Sig
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(c) ST (itd) [Xeftar S
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195. Match List - I with List - I1.

196.

197,

List -1 List - IT
(a) [Allen's Rule | (1) |Kangaroo rat
®) zg;’ijﬁiﬂal (i) [Desert lizard
© fg:}f::;‘;fl (i) |Marine fish at depth
@ f;‘ﬁ;ﬁfl (iv) |Polar seal
Choose the correct answer from the options given
helow,
(a ® ©
1 @ @ @ W
@ @) @ @ @
@ @) ) @ @O
¢ @ W @ @

During muscular contraction which of the
following events occur ?

(a) ‘H zone disappears

()  “A’band widens

(¢) T band reduces in width

(d) Myosine hydrolyzes ATP, releasing the ADP
and Pi

(&)  Z-lines attached to actins are pulled inwards

Choose the correct answer from the options given

below.

1) (a), (). (0), (d) only

(2) (). (c), (d), (e) only

3)  (b), (d). (e), (a)only

@ (a),(c), (d), (e)only

Match List - I with List - IT,

List -1 List - 1I

(a) |Scapula (i) |Cartilaginous joints
(b) |Cranium (11) |Flat bone
(¢) [Sternum (i11) |Fibrous joints
(d) |Vertebral column |[(Gv) |Triangular flat bone
Choose the correct answer from the options given
below.

(@ ((b) ( (@
G @ @ ) o
@ ) @ @ o
@ W a @ O
@ @ @ @ )
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199,

200,

HIT(A) : 59 T Al Iea GOl T el & a9
e QAT SR o T S WE oA °

FHfoTR T 53T F USHA Fe Hoqd
FAT

I QT R T e T % wRU
IR ) wErE St e et 9rd |
ST A o T § e fashedi ° 9 WE S| A
=T Y |

(1) <TH (A) T (R) 99 § ©fFT (R), (A) =i

3t = == &
(A) T § AT (R) 379 81
(A) 3T T ¥ifa (R) 99 B

A (A) T (R) ¥ | T (R), (A) 1 3w
= 2

v % saad = sy # s Rt gHE w5
HIferd el & ?

(1) dafus

2 YW

(3) V™

@ U gEE

e § $F Aeeiva SgaeE TRl 2w s
(MOET) %1 =R A& & ?

(1) TF T GH9 H o9 6-8 S 3= HLE )
@)  TE R FEW dEEE g1 e fear s g
@) Tmfam s 8-32 Fifvew s/ 4 yfafgs
e ¥ THiaia foma < €

T H 3= SfErgsd & fow LH S e
T FHA T S # |

®RIIUT (R) :

(2)
(3)
4)

(@)

-00o0-
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Assertion (A) :

A person goes to high altitude and experiences
‘altitude sickness’ with symptoms like breathing
difficulty and heart palpitations.

Reason (R) :

Dhue to low atmospheric pressure at high altitude,
the body does not get sufficient oxygen.

In the light of the above statements, choose the
correct answer from the options given below.

(1) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(2)  (A)istrue but (R) is false

(3)  (A) is false but (R) iz true

(4) Both (A) and (R) are true and (R) is the

correct explanation of (A)

Which of the following secretes the hormone,
relaxin, during the later phase of pregnancy ?

(1)  Corpus luteum
(2)  Foetus

(3) Uterus

(4)  Graafian follicle

Which of the following is not a step in Multiple
Ovulation Embryo Transfer Technology
(MOET) ?

(1)  Cow vields about 6-8 eggs at a time

(2)  Cow is fertilized by artificial insemination

(3)  Fertilized eggs are transferred to surrogate
mothers at 8-32 cell stage

4) Cow is administered hormone having LH

like activity for super ovulation

-olo-
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ﬁﬁﬁ@ﬁ% SEJT?#U'%‘ Read carefully the following instructions :
6. T T TN W, T FR/aa set 4@ e | 6. On completion of the test, the candidate must

T ; ot Firf hand over the Answer Sheet (ORIGINAL and
Rl ol : Ll Y OFFICE Copy) to the Invigilator before leaving
N HATI WIS | T 379 | e Eﬁ?ﬂm SE the Room/Hall. The candidates are allowed to take
HFa T away this Test Booklet with them.

7 WWWW%N:; | %Eﬁﬁwaﬂ-ﬁ'ﬁ; 7. The CODE for this Booklet is N3. Make
Wgﬁ?‘lﬂ = dam’ T %WWQTW& sure that the CODE prlntEfd on the Original

: Copy of the Answer Sheet is the same as that
T Fehd H foeren %l SR 77 o o1 el G d on this Test Booklet. In case of discrepancy, the
T Yt 3R S U= o % foau e =i T« candidate should immediately report the matter to
3TETT T | the Inwvigilator for replacement of both the Test

) ) Booklet and the Answer Sheet.

8. e gl LESKANERE Wﬁ‘cﬁﬁ%’[ TIMRTEA | ¢ The candidates should ensure that the Answer
34 WHE 37 9 = o | wdeneff oo s Sheet is not folded. Do not make any stray marks
B anywhere else except in the specified space in the

Test Booklet/Answer Sheet,
: ‘ : 9. se of white fluid for correction is permisgsible

9. TN T W Tl TR % T ¥ TR FTES ® Use of white fluid f NOT bl
TERT T STAfT T R on the Answer Sheet.

~ ~ 10. Each candidate must show on-demand his/her

10. Y ST R S TS, FRiarh 1 7 3w Admit Card to the Invigilator.
feam | 11. No candidate, without special permission of the

11. %% anitges =1 f1deres &1 fod srqafa & fomm =8 centre Superintendent or Invigilator, would leave

. his/her seat.
YT ST T A DS |
' | 12. The candidates should not leave the Examination

12. HEW friw® F1 oo IR 7= ]y fomn v Hall without handing over their Answer Sheet to

IUfEATg-9F T AN BEAER (HHY & o) fru the Invigilator on duty and sign (with time) the
. : Attendance Sheet twice. Cases, where a
o o e ferwt ’

HI T T WA T il e candidate has not signed the Attendance
witget A GH it ST Saftarfa-usre av gearery @& Sheet second time, will be deemed not to
feru <t =g wr=T Stre foF SEe ST ud @ wierar have handed over the Answer Sheet and
aﬁ'mgaﬂ&mmmaﬁrmwml dealt with as an Unfair Means case.

o 13. Use of Electronic/Manual Calculator is prohibited.

1 TS R HSHTeh 35T gl 14, The candidates are governed by all Rules and

14. TUAT-FA/BlA T 37w & Tau udane, wdan &% Regulations of the examination with regard to their
Frgmi ug Frafirg £ ﬂﬁﬁlﬂ e conduct in the Examination Room/Hall. All cases
e t{a?. 3 B i s i i e of unfair means will be dealt with as per the Rules

&l BH AT T and Regulations of this examination.
Sﬂﬂﬁ'{?ﬂ'ﬁ | 15. No part of the Test Booklet and Answer

15. mmﬁﬁww aﬁTEﬂTﬂﬂ‘Wﬂﬁ? Sheet shall be detached under any
— S8 circumstances.

‘ * 16. The candidates will write the Correct Test Booklet

16, W& iR/ STRUA § T80 T w{ien Gt Hehd W Code as given in the Test Booklet/Answer Sheet
'q-agﬂ'[gﬁ H%"]‘ H’fl'?'m" ﬁ mﬂ%{_‘qﬁ ﬁ 1%"@ | in the Attendance Sheet.
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